Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Table of Contents

C. Control and Signal Modules .........ccccciiiiiriiiniinsssrsssssss s ssssssssssssssssssnssnsssnsssnnnns C-3
Valve Adapters with Dual Double Solenoid, Valve Signal Pass Through, Proximity and

PreSSUIe SENSOIS.....ciii et e e e e R e e e an e e e a s nn e e s C-3

ProducCt OVEIrVIEW.......icceeeiiiere it s e e e nn e s C-3

2. Product INformation ... - C-6

2.1 Dual Double-Solenoid Valve FUNCLION........c.ccceiiiminnirir s C-6

2.2 Monitoring Solenoid VAIVES .........ccccceiimmmmiiiriiiiiisssssssssssseeese s sssssssssssssmssns s e s s s essssssssssnnsmssssssnsees C-7

221  Pressure Sensor Solenoid Valve 1 ..o C-7

2.2.2  Proximity Sensor Solenoid ValVe 2 ...........oooiiiiiiiiiiiiieieee et C-7

3. INStallation .....coooeeeeeeeee s C-8

3.1 Valve Adapter Installation for QC-113, QC-210, QC-213 .......ccceccceiiemrrrrr e r e s s ssnner e e e ee s C-8

3.2 Valve Adapter Removal for QC-113, QC-210, QC-213 ......coeiriiieeccnnmrrrrr e e s s snner e e e ee s C-9

3.3 Valve Adapter Installation for QC-310, QC-313, QC-510, QC-1210.......ccceeveeecccrrmmmmerrneerennns C-10

3.4 Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210......ccceverrrrrriccrrrnmmrrrreereennnns c-11

3.5 Spacer Module INstallation...........ccccceemmmimimiiiiii e snr e e s ssmnne e e e e e eeenas C-11

3.6  Spacer Module ReMOVaAL..........cciiiccciiiremrririere s sssccsssssees s s e s e s s s s s s ssmmn s s e e e n e e esssns s ssnnnnnnesennees C-12

3.7 Pneumatic CONNECLIONS ........cciiiiieiiiiiiiiir e ———— C-12

3.8  Electrical CoNNECLIONS........cciciimiiiiiinirire s C-12

3.8.1  Solenoid Valves Pin BIOCK..........cccuiiiiiiiiii it C-12

3.8.2 Pressure and Proximity Sensor Connections............c.eeevviieeeiiiiiiiiiiiiiieeeeee e C-12

(0 o= - 1 £ Lo o R C-13

MaiNtENANCE........cc e ————————————— C-13

Troubleshooting and Service Procedures .........ccccocciiiiiirirnnssssssssssssssssssssssssssssssssnnnns C-14

(<700 S 1 e 101 1= s Lo T 1 sV PP C-14

6.2 Manually Phase SoleNOids .........cccccciirmmrmmrimriiisssscscsssssceeeresesssssssssssssssssss e e e s essssssssssnssssnsssensees C-15

6.2.1  Manually Override Solenoid Valves to Unlock Position.............cccccvveieiiieeeiiiiiiciie, C-15

6.2.2 Manually Override Solenoid Valves to Locked PoSition ............cccccvvviieeiieeeee i, C-16

6.3  Service ProCedures........c.ociiimiiuiiininisinie s Cc-18

6.3.1  Exhaust Muffler Replacement .............ooeiiiiiiiiiiiiiieeeee e C-18

6.3.2 Pressure Sensor Replacement ..........ccooiiiiiiiiiiiiiic e C-19

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-1


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

7. Serviceable Parts ... Cc-21
7.1  JP12, JR4, and JU4 Master Valve Adapters Serviceable Parts.......cccccccereiiccccciinneennnnennnn, C-21
7.2 JP13, JT7, and JU5 Master Valve Adapters Serviceable Parts .......cccccccrrviiicccciinnceecnnennnn, C-22
7.3 Tool Spacer Block Serviceable Parts ........cccccooccccicmmmiiiiiiie s ssnnneen e e e C-23
SPECITICALIONS ... aan C-24
D 1T 4T TS C-26
9.1 Integrated QC-210 Tool Changer Valve Arrangement (JR4).........cccocerriirmnnsnnininnnnnnssnnnens C-26
9.2 Integrated QC-210 Tool Changer Valve Arrangement (JU4).........cccccrniimmnnnnnnnieennnsnnssnnens C-29
9.3 Integrated QC-210 Tool Changer Valve Arrangement (JP12) ........ccccccnernnnsnnnniennnnnssnnne C-32
9.4 Integrated QC-310 Tool Changer Valve Arrangement (JU5)........cccceernimnnnsnnisiennnnsssnnnens C-35
9.5 Integrated QC-310 Tool Changer Valve Arrangement (JT7) .......ccccuvvminnienmnnsnnnnieennnnsssnnens C-38
9.6 Integrated QC-310 Tool Changer Valve Arrangement (JP13) .......cccccciniimnnnsnnnniennnnenssnnes C-41
6.2 Manually Phase SOIENOIMS .........ccccceriiirrmrerissssrresssssnr e e ssssnr s s s s smne e s sssssme e s ssssssneessssssmseessnsnnns C-15

6.2.1  Manually Override Solenoid Valves to Unlock Position..............ccccceeiviiiciiiieneee, C-15
6.2.2 Manually Override Solenoid Valves to Locked Position .............ccccveeiiiieeiiiiiene e C-16
6.3  ServiCe ProCedUres........cccccuirimiiiininis s s s s Cc-18
6.3.1  Exhaust Muffler Replacement ...............oooiiiiiiiiiiiiieee e C-18
6.3.2 Pressure Sensor Replacement ............oooiiiiiiiiiiiiiieeee e C-19

7. Serviceable Parts ... Cc-21
7.1  JP12, JR4, and JU4 Master Valve Adapters Serviceable Parts.......cccccccrrriicccccinecennnnennnn, C-21
7.2 JP13, JT7, and JU5 Master Valve Adapters Serviceable Parts .......cccccccereiiccccciineececnnennnn, C-22
7.3 Tool Spacer Block Serviceable Parts ........ccccooccccciimemiiiiiiccscccsesrnrre s ssnnee e e C-23
SPECITICALIONS ... aan C-24
D 1T T TS C-26
9.1 Integrated QC-210 Tool Changer Valve Arrangement (JR4).........cccecrrnirinnsnnininennnnsnnnnens C-26
9.2 Integrated QC-210 Tool Changer Valve Arrangement (JU4)..........ccccernnmmmnnnnnnnieennnnssnnnens C-29
9.3 Integrated QC-210 Tool Changer Valve Arrangement (JP12) ........ccccconnimmnnsnnnniennnnnnsnnnens C-32
9.4 Integrated QC-310 Tool Changer Valve Arrangement (JU5)........ccccemrnnimnnnsnnnniennnnnssnnnns C-35
9.5 Integrated QC-310 Tool Changer Valve Arrangement (JT7) .......ccccuvvminniennnnsnnininennsssssnnens C-38
9.6 Integrated QC-310 Tool Changer Valve Arrangement (JP13) .......cccccceinerinnsnnnnennnnenssnnes C-41

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-2


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

C. Control and Signal Modules

Valve Adapters with Dual Double Solenoid, Valve Signal Pass
Through, Proximity and Pressure Sensors

1. Product Overview

Valve adapters are required to provide an air supply to the compatible Tool Changer Master for actuation of

the locking mechanism. Valve adapters come outfitted with integrated dual double-solenoid valves to provide
redundant protection against unintended tool release, refer to Section 2.1—Dual Double-Solenoid Valve Function
for a detailed Description. The valve adapter is equipped with sensors to monitor the solenoid valves for detection
of failure of either valve. Solenoid valve 1 is monitored using a pressure sensor and solenoid valve 2 is monitored
using a proximity sensor. Refer to Section 2.2—Monitoring Solenoid Valves for additional information. The valve
adapter when used in combination with a control/signal module such as a DL5, satisfies the PL d safety reliability
level in accordance with ISO standard 13849-1.

The valve adapter mounts to the Master body of the Tool Changer. A JR4-T spacer module is required to align the
control/signal Master and Tool modules. Control of the integrated valve is accomplished though the valve signal
pass through connector to the control/signal module. The latch/unlatch signals sent to the control/signal module
are transmitted to the valve adapter using a small, internal pin block. Figure 1.1 shows the control/signal module
to valve adapter electrical interface. Variations of the valve adapter with valve signal pass through are available,
depending upon the Tool Changer size and type of porting required by the customer (see Table 1.1 and Section 9—
Drawings for a complete listing of available adapters and customer drawings).

Figure 1.1—Valve Pass Through Connection

Control/Signal

Module\

Valve Pass Through
Connection

Valve Pass Through/

Connection

Valve Adapter S
9121-JR4-M (Shown) Air Port

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-3


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Table 1.1—Valve Adapters with a Dual Double Solenoid, Proximity and Pressure Sensors, and Valve
Pass Through Models

Module Description Air Port Size Compatible Tool Changer
9121-JR4-M Dual Double Solenoid w/ Proximity 1/4 NPT QC-113, QC-210, QC-213
and Pressure Sensors
Dual Double Solenoid w/ Proximity
9121-JU4-M and Pressure Sensors G 1/4 (BSPP) QC-113, QC-210, QC-213
9121-JP12-M Dual Double Solenoid w/ Proximity | o 1,4 ggpT) QC-113, QC-210, QC-213
and Pressure Sensors
9121-JU5-M Dual Double Solenoid w/ Proximity | 4,4 ggpp) QC-310, QC-313, QC-510, QC-1210
and Pressure Sensors
9121-JT7-M Dual Double Solenoid w/ Proximity 1/4 NPT QC-310, QC-313, QC-510, QC-1210
and Pressure Sensors
Dual Double Solenoid w/ Proximity
9121-JP13-M and Pressure Sensors Rc 1/4 (BSPT) QC-310, QC-313, QC-510, QC-1210

The valve adapter mounts to Flat ‘A’ and provides a ledge mount for the control/signal Master module. A single air
port connection for the customer air supply supplies the lock and unlock air to the valve adapter. Lock and unlock
air connections to the Tool Changer are provided through ports in the ledge mount, O-rings in the body seal the
connection. The valve adapter is equipped with exhaust mufflers, a pressure sensor, a proximity sensor, and dual
double solenoid valves, refer to Figure 1.2. Access to the solenoid valve manual overrides are provide through
screws in the aluminum housing, refer to Section 6.2—Manually Phase Solenoids for more information.

Figure 1.2—Valve Adapters with a Double Solenoid and Valve Pass Through

Exhaust Mufflers X\

/—Common Ledge
Mounting Feature

for Latch/Unlatch Signals

Ledge Mount Feature for ' : AN 1/4 NPT Air Supply Port
Control/Signal Master Module

Pressure Sensor v
4-Pin M8 Male Connector for—" g

Pressure Sensor Interface (S
3-Pin M8 Male Connector for

Proximity Sensor Interface

) Pilot Air
Solenoid
Valve 1

Solenoid
Valve 2

Manual Override Access
Solenoid 1 Unlock

Manual Override Access
Solenoid 2 Lock

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-4


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

A 9121-JR4-T Spacer Module is required for the tool side which provides the proper spacing and a ledge mount for
the control/signal Tool module.

Figure 1.3—Spacer Module

JR4-T Spacer Module\

Common Ledge
Mounting Feature

Ledge Mount Feature for
Control/Signal Tool Module

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-5


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

2. Product Information

21

Command:

LATCH Master Side
S EE N
Exhaust froxmiy
o A Muffler ”
> O£
s B N B _
Muffler == — Exhaust f- 1 [Unlock Locking
) < —— Muffler | est—am=— Port M_echaplsm
Air 0 Air Cylinder
Supply r
e 8| To Lock 8 B
Port
j ’J

Dual Double-Solenoid Valve Function

The Dual Double-Solenoid Valve Adapter employs two double-solenoid valves. The valves are incorporated
in a pneumatic circuit that is designed to reduce the probability of an unintended unlatch of the Tool
Changer. If any one of the valves was to fail the Tool Changer would remain latched. The pneumatic

circuit is designed in such a way that both valves must be in the Unlatch position before the Tool Changer
will unlock. The valves remain in their current position when the solenoids are de-energized. The dual
double-solenoid valves have pilot exhaust ports, which are exhausted separately from the primary exhaust
(not shown in the circuit diagrams).

Figure 2.1 shows the Tool Changer in the locked position when the latch command has been provided by the
robot. The air is supplied to the locking mechanism through valve 1 and air is exhausted through valve 2. At
this point the pressure sensor should be nearly zero indicating that valve 1 is functioning properly and the
proximity sensor output should be high indicating that valve 2 is functioning properly. The output from these
sensors is provided to the control/signal module to be evaluated to determine if it is safe to latch or unlatch
the Tool Changer or if a valve failure has occurred. Once the data has been verified and the Tool Changer
has locked, the latch signal to the valves is turned off.

Figure 2.1—Dual Double-Solenoid Valve Adapter Pneumatic Circuit in Latched Position

Valve Adapter with Dual Double-Solenoid Valves

| I
VALVE 1 VALVE 2 Tool Changer

| @~ o™ I

Tool Changer
— Tool Side
Spacer N J

A separate unlatch command is provided to each solenoid valves in accordance with the requirements of a
dual-channel safety system. At this point the pressure sensor should measure a pressure equivalent to the
supply air pressure indicating that valve 1 is functioning properly and the proximity sensor output should
be low indicating that valve 2 is functioning properly. Once the data has been verified and the Tool Changer
has unlocked, the unlatch signal to the valves is turned off. The Master can now move away from the Tool.
Refer to Figure 2.2.

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-6


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Figure 2.2—Dual Double-Solenoid Valve Adapter Pneumatic Circuit in Unlatched Position

Valve Adapter with Dual Double-Solenoid Valves

I
Command: VALVE 1 VALVE 2 Tool Changer
UNLATCH | Master Side
VALVE 1 ) )
7] EE N T
Exhaust —M
Muffler e A A A
, Enns Sl an g
Air D P, 5
Suppl
i i Exhaust (w5,
EA A EA A Unlock
i Il Port %
vd
G R TR o = B e Locking
Port Exhaust Mechanism
Muffler Air Cylinder
Command: i] L 4' _L
UNLATCH T
VALVE 2
Tool Changer,
1 Tool Side
Spacer \ J |

2.2 Monitoring Solenoid Valves

A pressure sensor is used to monitor solenoid valve 1 to detect if the valve is functioning properly. The
pressure sensor can detect if the solenoid valve has failed. Solenoid valve 2 uses a proximity sensor to detect
if the valve has failed. The control/signal module monitors the sensor outputs, refer to the Control/Signal

Module Manual for more information.

2.2.1 Pressure Sensor Solenoid Valve 1

When the Tool Changer is in the locked position the pressure sensor should be nearly zero
indicating that valve 1 is functioning properly. In the unlocked position the pressure sensor
should measure a pressure equivalent to the supply air pressure indicating that valve 1 is

functioning properly.

2.2.2 Proximity Sensor Solenoid Valve 2

When the Tool Changer is in the locked position the proximity sensor output should be high
indicating that valve 2 is functioning properly. In the unlocked position the proximity sensor output
should be low indicating that valve 2 is functioning properly.

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-7


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

3. Installation

Valve adapters and spacer modules are typically installed by ATT prior to shipment. Installation and removal are
outlined in the following section.

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
‘ the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from circuits in accordance with the customer specific safety practices and policies. Injury
or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

3.1 Valve Adapter Installation for QC-113, QC-210, QC-213

Tools required: 3 mm and 5 mm hex keys, torque wrench
Supplies required: clean rag, Loctite 222, 242, and 569

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4. Clean the mounting surfaces.
5

. (2) O-rings are required on the Master side Flat ‘A’ interface. Make sure these O-rings are present and
lightly lubricated (refer to Figure 3.1).

6. Using the ledge feature to place the valve adapter adjacent to the ‘Flat A’ mounting surface. Align the
valve adapter using the dowels in the bottom of the ledge feature.

7. Apply Loctite 242 to the supplied (2) M6 socket head cap screws. Secure the valve adapter using the M6
socket head cap screws and tighten to 70 in-lbs (7.9 Nm).

8. Apply Loctite 222 to the supplied M5 socket head cap screw. Install the M5 socket head cap screw
securing the valve adapter to the Tool Changer and tighten to 55 in-lbs (6.2 Nm).

Figure 3.1—Valve Adapter Installation (QC-210 Shown)

Lock, Unlock, and RTL Sensor Cable Connections

(2) M6 Socket Head Cap Screws
Valve Adapter \

Tool Changer Master
(QC-210 Shown)\

9121-JR4-M (Shown)
M5 Socket Head Cap Screws

(2) M6 SéJckeSt Head
ap crews\

d
Al: Pneumatic Connection
Cable Channel in Bottom of Valve Adapter Module

(2) Cable Retaining Tabs
Proximity Sensor Connector (2) M3 Socket Flat Head Cap Screws

Control/Signal Module ,\"

Pressure Sensor Connector

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-8


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

9. Remove the (2) M3 socket flat head screws and the (2) cable retaining tabs from the bottom of
the valve adapter.

10. Route the RTL (R1) sensor cable through the cable channel in the bottom of the valve adapter.
Refer to Figure 3.2.

11. Install the (2) M3 socket flat head screws and the (2) cable retaining tabs from the bottom of the valve
adapter. Tighten to 24 in-o0z (0.17 Nm).

12. Make pneumatic connection to the valve adapter housing as required. Ensure that the connectors are
cleaned prior to being secured as appropriate. ATI recommends using a thread sealant such as Loctite
569 or similar.

NOTICE: The Lock, Unlock, RTL, Pressure and Proximity sensor cables will be connected when
installing the control/signal module.

Figure 3.2—RTL (R1) Sensor Cable Routing

Valve Adapter
9121-JR4-M (Shown)

-—
rs

{ R

Cable Channel in Bottom
of Valve Adapter Module

(2) Cable Retaining Tabs

RTL (R1)
Sensor Cable

Control/Signal Module

3.2 Valve Adapter Removal for QC-113, QC-210, QC-213

NOTICE: Depending on maintenance or repair being performed, utilities to modules and Master
plate may need to be disconnected.

Tools required: 3 mm and 5 mm hex keys

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4

. If there is a control/signal module piggy-backed on the valve adapter, it will need to be removed prior to
removal of the valve adapter. Disconnect all electrical and pneumatic connections to the control/signal
module and valve adapter as required.

5. Disconnect the lock, unlock, RTL, proximity, and pressure sensor connections from the control/signal
module. Refer to Figure 3.1.

6. Remove the (2) M6 socket head cap screws and lift the control/signal module off the valve adapter.

7. Remove the (2) M3 socket flat head cap screws and the (2) cable retaining tabs from the bottom of
the valve adapter.

8. Remove the RTL (R1) sensor cable from the cable channel in the bottom of the valve adapter.
Refer to Figure 3.2.

9. Remove the M5 socket head cap screws and the (2) M6 socket head cap screws and lift the valve adapter
off the Tool Changer.

10. Make sure that the O-rings are retained at the Master side Flat ‘A’ mounting interface.

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-9



http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

3.3 Valve Adapter Installation for QC-310, QC-313, QC-510, QC-1210
Tools required: 3 mm and 5 mm hex keys, torque wrench
Supplies required: clean rag, Loctite 242 and 569
. Place the Tool in a secure location.
. Uncouple the Master and Tool plates.

1
2
3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4. Clean the mounting surfaces.

5

. (2) O-rings are required on the Master side Flat ‘A’ interface. Make sure these O-rings are present and
lightly lubricated (refer to Figure 3.3).

NOTICE: Makes sure the RTL (R1) sensor cable is in the cable channel in the Tool Changer
body, so it will not get pinched when installing the valve adapter.

6. Using the ledge feature to place the valve adapter adjacent to the ‘Flat A> mounting surface. Align the
valve adapter using the dowels in the bottom of the ledge feature. Apply Loctite 242 to the supplied M6
socket head cap screws. Secure the valve adapter using the M6 socket head cap screws and tighten to
70 in-lbs (7.9 Nm).

7. Make pneumatic connections to the valve adapter housing as required. Ensure that the connectors are
cleaned prior to being secured as appropriate. ATI recommends using a thread sealant such as Loctite
569 or similar.

Figure 3.3—Valve Adapter Installation (QC-310 Shown)

Tool Changer Master
(QC-310 Shown)

(2) M6 Socket Head Cap Screws

Valve Adapter

(2) M6 Socket Head
Cap Screws

Proximity

Pressure Sensor Connector

Sensor Connector

Control/Signal
Module

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-10


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

3.4 Valve Adapter Removal for QC-310, QC-313, QC-510, QC-1210
Tools required: 3 mm and 5 mm hex keys
1. Place the Tool in a secure location.
2. Uncouple the Master and Tool plates.
3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4

. If there is a control/signal module piggy-backed on the valve adapter, it will need to be removed prior to
removal of the valve adapter. Disconnect all electrical and pneumatic connections to the control/signal
module and valve adapter as required.

5. Disconnect the lock, unlock, RTL, proximity, and pressure sensor connections from the
control/signal module.

6. Remove the (2) M6 socket head cap screws and lift the control/signal module off the valve adapter.
7. Remove the (2) M6 socket head cap screws and lift the valve adapter off the Tool Changer.

8. Make sure that the O-rings are retained at the Master side Flat ‘A’ mounting interface.

3.5 Spacer Module Installation
Tools required: 3 mm and 5 mm hex keys, torque wrench

Supplies required: clean rag, Loctite 222 and 242
. Place the Tool in a secure location.
. Uncouple the Master and Tool plates.

1
2
3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4. Clean the mounting surfaces.

5

. Using the ledge feature to place the spacer module adjacent to the ‘Flat A” mounting surface. Align the
spacer module using the dowels in the bottom of the ledge feature.

6. Apply Loctite 242 to the supplied M6 socket head cap screws. Secure the spacer module using the M6
socket head cap screws and tighten to 89 in-lbs (10.0 Nm).

7. Apply Loctite 222 to the (2) supplied M5 socket head cap screws. Secure the spacer module using the
MS5 socket head cap screws and tighten to 52 in-1bs (5.9 Nm).

Figure 3.4—Space Module Installation
(2) M6 Socket Head Cap Screws

JR4-T Spacer Module
(2) M6 Socket \

Head Cap Screws

Tool Changer Tool Side

\ (2) M5 Socket Head Cap Screws
DL5-T Control/Signal Module

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-11


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

3.6 Spacer Module Removal
Tools required: 3 mm and 5 mm hex keys

. Place the Tool in a secure location.

. Uncouple the Master and Tool plates.

1
2
3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4

. If there is a control/signal module piggy-backed on the spacer module, it will need to be removed prior
to removal of the spacer. Disconnect all electrical and pneumatic connections to the control/signal
module as required.

5. Removing the (2) M6 socket head cap screws and lift the control/signal module off the spacer module
(refer to Figure 3.4).

6. Remove the (2) M5 socket head cap screws and the (2) M6 socket head cap screws and lift the spacer
module off the Tool Changer.

3.7 Pneumatic Connections

The customer is only required to supply the valve adapter with a single air supply. A clean, dry,
non-lubricated air supplied between 60 and 100 psi (4.1 — 6.9 Bar) and filtered at 40 microns or better is
required. A supply air port is provide on the valve adapter. An adapter fitting is required to accommodate G,
BSPP, R, or other types of connections. The control/signal module will not allow an unlatch if the pressure is
less than 60 or greater than 100 psi.

CAUTION: Do not exceed the pressure overload value (150 psi) of the pressure
sensor. Exceeding the pressure overload value will damage the pressure sensor.
Maintain the supply pressure between 60 and 100 psi.

JAN
A\

CAUTION: All pneumatic fittings and tubing must be capable of withstanding the
repetitive motions of the application without failing. The routing of electrical and
pneumatic lines must minimize the possibility of stress pullout, kinking, etc. Failure of
some critical electrical and/or pneumatic lines to function properly may result in injury to
personnel and equipment.

A\

CAUTION: Do not use the Tool Changer in a fail-safe condition. Do not transport the
Tool Changer in a fail-safe condition. Possible damage to the locking mechanism could
occur. Re-establish air pressure before returning to normal operations.

3.8 Electrical Connections
3.8.1 Solenoid Valves Pin Block

The electrical connection for valve control is made through internal pin block as described in
Section 1—Product Overview and detailed in drawings in Section 9—Drawings. The control of
the dual double-solenoid valves is integrated with an ATI-supplied control/signal module that is
piggy-backed onto the valve adapter.

3.8.2 Pressure and Proximity Sensor Connections

The pressure and proximity sensor interface connectors provided signals to the control/signal
module to determine if it is safe to unlatch the Tool Changer. Both connectors are field wireable and
IP67 rated. The pin-out for the connectors is shown in Section 9—Drawings.

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-12


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

4. Operation

Valve adapters are supplied with the tool changer to provide a fully integrated solution. The customer is only
required to supply the valve adapter with a single air supply. Again, it is important that clean, dry, non-lubricated air
supplied between 60 and 100 psi (4.1 — 6.9 Bar) and filtered at 40 microns or better is provided.

An electrical connection is provided for valve control as detailed in Section 9—Drawings of this manual.
The control of this valve is integrated with an ATI-supplied control/signal module that is piggy-backed onto
the valve adapter.

5. Maintenance

Valve adapters should require little maintenance. The only wear components are the solenoid valves and an exhaust
mufflers. Under normal operating conditions, the valves will last for millions of cycles. The exhaust muffler should
be check every 6 months of operation or more frequently in dirty environments to see if it is clogged.

the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from circuits in accordance with the customer specific safety practices and policies. Injury
or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

. WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless

To check if the exhaust muffler is clogged remove the muffler and blow through the muffler. If it is difficult
to blow or you can not blow through it at all replace the exhaust muffler. Refer to Section 6.3. —Exhaust
Muffler Replacement.

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-13


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

6. Troubleshooting and Service Procedures

The following section provides troubleshooting information to help diagnose conditions with the Tool Changer or
valve adapter and service procedures to help resolve these conditions.

A

WARNING: Do not perform maintenance or repair(s) on the Tool Changer or modules unless
the Tool is safely supported or placed in the tool stand, all energized circuits (e.g. electrical,
air, water, etc.) are turned off, pressurized connections are purged and power is discharged
from circuits in accordance with the customer specific safety practices and policies. Injury

or equipment damage can occur with the Tool not placed and energized circuits on. Place
the Tool in the tool stand, turn off and discharge all energized circuits, purge all pressurized
connections, and verify all circuits are de-energized before performing maintenance or
repair(s) on the Tool Changer or modules.

6.1 Troubleshooting

Follow the suggested actions listed in 7able 6.1 when attempting to troubleshoot the valve adapter. If issues
persist, contact your closest ATI representative.

Table 6.1—Troubleshooting

Symptom

Cause

Resolution

Tool Changer will
not Lock / Unlock or
operates slowly.

Debris caught between the
Master and Tool plates.

Clean debris from between Master and Tool plates. Verify mounting
fasteners is secure and does not protrude above the mating surfaces.

Exhaust muffler is clogged.

Check/Replace exhaust muffler; ensure clean air supply. Refer to
Section 6.3.1—Exhaust Muffler Replacement

No or not enough air
pressure on the pneumatic
connection.

Make sure Pneumatic connection has minimum pressure, refer to
Section 3.7—Pneumatic Connections.

Air leaks

Verify that the fasteners connecting the valve adapter to the Tool
Changer are properly tightened. If air still leaking, remove the valve
adapter module from the Tool Changer and check for damaged or
missing O-rings. Refer to Section 3.1—Valve Adapter Installation for
QC-113, QC-210, QC-213 or Section 3.3—Valve Adapter Installation
for QC-310, QC-313, QC-510, QC-1210.

Check air hoses and connections for leak replace as necessary.

No power is supplied to the
Solenoid valve or Solenoid
valve malfunctioning

Monitor LOCKED and UNLOCKED LEDs to verify power is supplied
to valve. If the LEDs do not light, verify valve power supply at control/
signal module is present, refer to Control/signal module manual.
Check valve function refer to Section 2.2—Monitoring Solenoid
Valves and have valve adapter serviced or replaced as required.

Tool Changer will Lock
but not Unlock or error
condition exists

Control/signal module safety
features not meet.

The tool stand Interlock, or other safety feature is preventing the Tool
Changer from unlocking, refer to the control/signal module manual
for more information. Control/signal module does not have bypass
circuit and will have to be unlocked manually, refer to Section 6.2.1—
Manually Override Solenoid Valves to Unlock Position.

The valve adapter solenoids are out of phase. One solenoid valve

is in the lock position and the other valve is in the unlock position.
This will generate VALVE ERROR and SYSTEM IS UNSAFE error
conditions and the Tool Changer will not be able to Unlatch. Manually
set both solenoids in the locked position and power cycle the module,
refer to Section 6.2—Manually Phase Solenoids.

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-14



http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

6.2 Manually Phase Solenoids

During normal operation the solenoids should never be out of phase. If during set up or maintenance the
solenoid valves are left out of phase VALVE ERROR and SYSTEM IS UNSAFE error conditions will be
generated indicating the valves are out of phase and need to be manually put back into phase with each
other. The dual double-solenoid valve adapters have two lock and two unlock manual overrides.

The state of the Tool Changer is in when the error condition is generated will determine whether to phase the
solenoids to the unlocked or locked position.

If the Tool Changer is in the locked position without a Tool Plate attached refer to Section 6.2. I —Manually
Override Solenoid Valves to Unlock Position.

If the Tool Changer is locked with the Tool Plate refer to Section 6.2.2—Manually Override Solenoid Valves
to Locked Position.

6.2.1 Manually Override Solenoid Valves to Unlock Position

The manual override procedure is to be used if the latch command has been executed without the
Tool plate attached. If the Tool Changer is in a locked state without a Tool plate attached it can only
be unlatched manually. This procedure can also be used to correct solenoid valves which are out

of phase to the unlocked position. Access to valve manual overrides are provided on both sides of
the valve adapter. The dual double-solenoid valve adapters have two manual overrides. Both valve
overrides must be actuated to unlatch the Master locking mechanism.

WARNING: Do not use the manual override procedure if the tool is locked to
the Master. Using the manual override will release the Tool and may cause
bodily injury or damage to equipment. Only use the solenoid valve manual
override when the Tool Changer Master and Tool plates are not attached.

CAUTION: The manual override is not intended for normal operations. Manual

& override is to be used in situations were no other alternative is available to
unlock the Master. Do not execute the Latch command unless the Master and
the Tool are ready to be coupled.

Tools required: 3 mm hex key, 2 mm ball end hex key, torque wrench

Supplies required: Loctite 222

1. To Unlock the Tool Changer, using a 3 mm hex key remove the (2) M4 socket head cap screws,
warning labels, and nylon washers from the (U1 and U2) manual unlock override holes on both
sides of the valve adapter.

CAUTION: Applying excess force can damage the solenoid or cause override

& button to stick in one position. Actuation of valve override buttons requires very
little travel (~1 mm) and only a small amount of force. Use non-sharp object,
similar to ball nose 2 mm hex key, to gently depress the override button; an air
release should be heard when the solenoid is activated.

2. Insert two 2 mm ball end hex keys or similar blunt objects in the (U1 and U2) solenoid valve
screw hole and gently depress both valve override buttons. An air release should be heard when
the solenoid is activated. Refer to Figure 6.1.

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-15


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Figure 6.1—Dual Solenoid Valve Manual Overrides

2 mm Ball End Hex Key—""_
Warning Label—~

M4 Socket Head Cap Screw—""% 4 %
Nylon Washer

Left Side View ‘ e ‘ = Unlock
(U1) Manual Override i Solenoid 2
/ Unlock Solenoid 1

4Ny|on Washe
Warning Label

M4 Socket Head Cap Screw
2 mm Ball End Hex Key

Verify the Green and Yellow LEDs
are Lit on the Unlock Sensor

3. Verify the sensor cable connector LEDs on the control/signal module indicate the Tool
Changer is unlocked.

4. Apply Loctite 222 to the M4 x 5 mm socket head cap screw securing the warning label to
the valve adapter.

NOTICE: Do not use longer fasteners to secure the warning labels to the valve adapter.
If a longer fastener is used it could damage or actuate the solenoid. Make sure to use
the same length fastener removed to secure the warning label (M4 x 5 mm socket

head cap screw).

5. Secure the warning labels, and nylon washers with the (2) M4 x 5 mm socket head cap screws
using a 3 mm hex key. Tighten to 48 in-oz.

6. IF VALVE ERROR and SYSTEM IS UNSAFE errors exist, clear by turning the clear errors bit
on. Note: The DLS5 control/signal module requires a power cycle to clear these errors.
6.2.2 Manually Override Solenoid Valves to Locked Position
Tools required: 3 mm hex key, 2 mm ball end hex key, torque wrench
Supplies required: Loctite 222
1. Place the Tool side of the Tool Changer safely in the tool stand.

2. To Lock the Tool Changer, remove the (2) M4 socket head cap screws, warning labels, and
nylon washers from the (L1 and L2) manual lock override holes as shown in Figure 6.2.

button to stick in one position. Actuation of valve override buttons requires very
little travel (~1 mm) and only a small amount of force. Use non-sharp object,
similar to ball nose 2 mm hex key, to gently depress the override button; an air
release should be heard when the solenoid is activated.

f CAUTION: Applying excess force can damage the solenoid or cause override

3. Insert two 2 mm ball end hex keys or similar blunt objects in the (L1 and L2) solenoid valve
screw hole and gently depress both valve override buttons. An air release should be heard when
one of the solenoid is activated.

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-16


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Figure 6.2—Manually Phase the Dual Double Solenoid Valves to the Locked Position

N > Warning Label

(L2) Manual Override
Lock Solenoid 2

(L1) Manual Override
Lock Solenoid 1

Left Side View

2 mm Ball End Hex Key—_~
IS
Nylon Washer/ 5

Warning Label

M4 Socket Head Cap Screw/ (CXC: -.mm__..‘

Verify the Green and Yellow / c
LEDs are Lit on the Lock Sensor

4. Verify the sensor cable connector LEDs on the control/signal module indicate the Tool Changer
is Locked. Refer to Figure 6.2.

5. Apply Loctite 222 to the M4 x 5 mm socket head cap screw securing the warning label to
the valve adapter.

NOTICE: Do not use longer fasteners to secure the warning labels to the valve adapter.
If a longer fastener is used it could damage or actuate the solenoid. Make sure to use
the same length fastener removed to secure the warning label (M4 x 5 mm socket

head cap screw).

6. Secure the warning labels, and nylon washers with the (2) M4 x 5 mm socket head cap screws
using a 3 mm hex key. Tighten to 48 in-oz.

7. Clear the VALVE ERROR and SYSTEM IS UNSAFE errors by turning the clear errors bit on.

NOTICE: The DL5 control/signal module requires a power cycle to clear these errors.

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-17


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

6.3 Service Procedures
The following service procedures provide instructions for inspection, adjustment, test or

replacement of components.
6.3.1 Exhaust Muffler Replacement

The exhaust muffler allows air from the Tool Changer locking mechanism to be exhausted to the
atmosphere, if the muffler is clogged it may affect the ability to lock and unlock the Tool Changer.
Remove and check to make sure the exhaust muffier is not clogged.

Tools required: 11 mm wrench

Parts required: Refer to Section 7—Serviceable Parts.

1. Place the Tool in a secure location.

2. Uncouple the Master and Tool plates.

3. Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).
4

. Remove the exhaust muffler using a 11 mm wrench and blow through the muffler. If it is
difficult to blow or you can not blow through it at all replace the exhaust muffler. Discard the
exhaust muffler.

5. Thread the new exhaust muffler into the valve adapter housing. Tighten to contact plus one turn
using a 11 mm wrench.

6. Safely resume normal operation.

Figure 6.3— Exhaust Muffler Replacement
Exhaust Muffler

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-18


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05
6.3.2 Pressure Sensor Replacement
The pressure sensor can be replaced if it is damaged or no longer functions properly.
Tools required: 1.3 mm (0.057), 2 mm, and 5 mm hex key, torque wrench
Supplies required: Magnalube' Loctite 222, Loctite 242

Parts required: Pressure Sensor service kit refer to Section 7.1—JP12, JR4, and JU4 Master Valve
Adapters Serviceable Parts or Section 7.2—JP13, JT7, and JU5 Master Valve
Adapters Serviceable Parts.

Place the Tool in a secure location.
Uncouple the Master and Tool plates.

Turn off and de-energize all energized circuits (for example: electrical, pneumatic, hydraulic).

v

Disconnect the pressure and proximity sensor cables from the control/signal module connected
to the valve adapter.

5. Disconnect all cables (electrical, power, safety switch, RT1, RT2, lock, and unlock sensor
cables) from the control/signal module.

6. Support the control/signal module and remove the (2) M6 socket head cap screws using 2 5 mm
hex key and lower the module until it clears the guide pin, set module aside.

7. Remove the M3 socket flat head cap screw from the retaining tab using a 2 mm hex key. Set the
screw and retaining tab aside.

8. Loosen the 2.5 mm set screw holding the pressure sensor in place using a 1.3 mm hex key. Pull
out the pressure sensor and discard.

Figure 6.4—Replace Pressure Sensor
RT1, RT2, Lock, and Unlock
Sensor Connections M3 Socket Flat Head Cap Screw

Electrical Retaining Tab
Pressure Sensor

Control/Signal Module
(9121-DL5-M Shown)

(2) M6 Socket Head Cap Screws

Lubricate O-ring :
with Magnalube -/

M2.5 Set Screw
JR4-M Valve Adapter

Proximity Sensor Connection
to the Control/Signal Module

Pressure Sensor Connection
to the Control/Signal Module

M2.5 Set Screw\,‘

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-19


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

9. Apply Magnalube to the O-ring on the new pressure sensor and insert into the body of the valve
adapter making sure it is seated completely.

NOTICE: Do not over tighten the 2.5 mm set screw. Overtightening the set screw can
damage the pressure sensor. Tighten the set screw until it contacts the sensor.

10. Apply Loctite 222 to the 2.5 mm set screw, using a 1.3 mm hex key, tighten to contact to secure
the pressure sensor.

11. Route the pressure sensor cable through the channel and secure with the retaining tab and the
M3 socket flat head cap screw using a 2 mm hex key. Tighten to contact.

12. Apply Loctite 242 to the supplied M6 socket head cap screws.

13. Using the ledge feature to place the control/signal module to the valve adapter and secure with
the (2) M6 socket head cap screws using a 5 mm hex key. Tighten to 70 in-1bs (7.9 Nm).

14. Connect all cables (electrical, power, safety switch, RT1, RT2, Lock, and Unlock sensor cables)
to the control/signal module.

15. Connect the pressure and proximity sensor cables from the control/signal module connected to
the valve adapter.

16. Safely resume normal operation.

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-20


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

7. Serviceable Parts
7.1 JP12, JR4, and JU4 Master Valve Adapters Serviceable Parts

Table 6.2—JP12, JR4, and J

U4 Master Valve Adapters

Item No. | Qty Part Number Description
Valve Adapter with Dual Double Solenoid 1/4 NPT, and
9121-JR4-M Valve Pass Through, Pressure and Proximity Sensors,

QC-210
Valve Adapter with Dual Double Solenoid G 1/4, and

1 1 9121-JU4-M Valve Pass Through, Pressure and Proximity Sensors,
QC-210
Valve Adapter with Dual Double Solenoid Rc 1/4, and

9121-dP12-M Valve Pass Through, Pressure and Proximity Sensors,

QC-210

2 3 3490-1010007-00 1/8 NPT Exhaust Muffler

3 5 3500-1066020-15A M6 x ?O mm Socket Head Cap Screw Blue Dyed Magni
ND Microspheres

9 2 3500-1064055-11 M5 x 55 mm Socket Head Cap Screw Black Oxide

4 1 9120-C-MSP100-4PM90-0018 Ar;Pm Right Angle Male to MSP100 Pressure Sensor, 0.18

5 1 3500-1955008-21 M2.5 x 8 mm Dog Point Set Screw, Black Oxide Finish

6 1 3700-20-4092 Large Cable Retaining Tab

7 4 3500-1258006-11 M3 x 6 mm Flat Head Socket Cap Screw Black Oxide

8 3 3700-20-3292 Cable Retaining Tab

9 2 3500-1064055-11 M5 x 55 mm Socket Head Cap Screw Black Oxide

Service Kit

4-Pin Right Angle Male to MSP100 Pressure Sensor,

* 1 9120-MSP100-PRESSURESENSOR-KIT | 0.18 m (Includes Qty 1 of Items 4, 5 and a 1.3 mm Hex
L-Key wrench).

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-21



http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

7.2 JP13, JT7, and JU5 Master Valve Adapters Serviceable Parts

Table 6.3—JP13, JT7, and J

U5 Master Valve Adapters

Iltem No. | Qty Part Number Description
Valve Adapter with Dual Double Solenoid G 1/4, and
9121-JU5-M Valve Pass Through, Pressure and Proximity Sensors,
QC-310
Valve Adapter with Dual Double Solenoid 1/4 NPT, and
1 1 9121-JT7-M Valve Pass Through, Pressure and Proximity Sensors,
QC-310
Valve Adapter with Dual Double Solenoid Rc 1/4, and
9121-JP13-M Valve Pass Through, Pressure and Proximity Sensors,
QC-310
2 3 3490-1010007-00 1/8 NPT Exhaust Muffler
3 5 3500-1066020-15A M6 x ?O mm Socket Head Cap Screw Blue Dyed Magni
ND Microspheres
9 2 3500-1064055-11 M5 x 55 mm Socket Head Cap Screw Black Oxide
4 1 9120-C-MSP100-4PM90-0018 Ar;Pln Right Angle Male to MSP100 Pressure Sensor, 0.18
5 1 3500-1955008-21 M2.5 x 8 mm Dog Point Set Screw, Black Oxide Finish
6 1 3700-20-4092 Large Cable Retaining Tab
7 2 3500-1258006-11 M3 x 6 mm Flat Head Socket Cap Screw Black Oxide
8 1 3700-20-3292 Cable Retaining Tab
Service Kit
4-Pin Right Angle Male to MSP100 Pressure Sensor,
* 1 9120-MSP100-PRESSURESENSOR-KIT | 0.18 m (Includes Qty 1 of ltems 4, 5 and a 1.3 mm Hex
L-Key wrench).

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com
C-22



http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

7.3 Tool Spacer Block Serviceable Parts

Table 6.4—Tool Spacer Block

Item No. Qty Part Number Description
1 1 9121-JR4-T JR4 Valve Adapter Spacer Block
” > 3500-1066016-15A M6 x j6 mm Socket Head Cap Screw Blue Dyed Magni
ND Microspheres
3 2 3500-1064050-15 M5 x 50 mm Socket Head Cap Screw Blue Dyed Magni

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-23


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

8. Specifications

Table 6.5—Valve Adapter Specifications

All Valve Adapter Models

Specification

Interface Connections

Integrated Solenoid Valve Connector: (4-Pin) Pin Block supporting Latch and Unlatch
signals

Integrated Proximity Sensor: M8, 3-Pin Male Connector

Integrated Pressure Sensor: M8, 4-Pin Male Connector

Electrical Rating

19-29VDC operational voltage (Solenoid Valve)

Current Draw

Switched Power: 250mA @ 24VDC (Solenoid Valve) (only when locking or unlocking
Tool Changer).

Air Pressure

60 - 100 psi (4.1 — 6.9 Bar) clean, dry, non-lubricated air

Air Filtration

40 microns

Environmental Resistance

Dust and water resistant, but not water proof or IP67 compliant

Operational Temperature Range

32 °F - 120 °F (0 °C) - 49 °C)'

Solenoid Valves

Specification

Double-Solenoid Valve

MAC Series 48, DC Voltage, 6W Coil, Washdown, separate pilot exhaust, 5 port, 2
position with air pilot assist, 250mA @ 19-29VDC

Sensors

Specification

Pressure Sensor

Pressure Transducer, 0 to 100 psig, 5VDC, 2mA, Pressure Overload-1.5X

Proximity Sensor

Inductive Proximity Switch, 10 to 30VDC. 12 mA. PNP type.

9121-JR4-M

Valve Adapter, Double Solenoid, NPT, Valve Pass Through, QC-113, QC-210,
QC-213

Pneumatic Connection

1/4” NPT

Weight 2.51bs (1.13 kg)

9121-JU4-M Valve Adapter, Double Solenoid, G, Valve Pass Through, QC-113, QC-210, QC-213

Pneumatic Connection G 1/4 (BSPP)

Weight 2.51bs (1.13 kg)

9121-JP12-M Valve Adapter, Double Solenoid, Rc, Valve Pass Through, QC-113, QC-210, QC-213
Pneumatic Connection Rc 1/4 (BSPT)

Weight 2.51bs (1.13 kg)

9121-JU5-M Valve Adapter, Double Solenoid, G, Valve Pass Through, QC-310, QC-313, QC-510,

or QC-1210

Pneumatic Connection

G 1/4 (BSPP)

Weight

2.98 Ibs (1.35 kg)

9121-JT7-M

Valve Adapter, Double Solenoid, NPT, Valve Pass Through, QC-310, QC-313,
QC-510, or QC-1210

Pneumatic Connection

1/4” NPT

Weight

2.94 Ibs (1.33 kg)

9121-JP13-M

Valve Adapter, Double Solenoid, Rc, Valve Pass Through, QC-310, QC-313, QC-510,
or QC-1210

Pneumatic Connection

Rc 1/4 (BSPT)

Weight

2.98 Ibs (1.35 kg)

Note:

(49° C).

1. Lower temperature limit based on MSP100 Pressure Sensor lower operating temperature limit of
32° F (0° C). Upper temperature limit based on MAC solenoid valve upper operating temperature limit of 120° F

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-24



http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Table 6.6—Tool Adapter Assembly Specifications

9121-JR4-T JR4 Valve Adapter Spacer Block, QC-210, QC-213

Weight 2.37 Ibs (1.07 kg)

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com
C-25


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

9. Drawings

Integrated QC-210 Tool Changer Valve Arrangement (JR4)

9.1

€0

NOISIAZY

4dr-02-0€96

438NN ONIMYT

d

378

[

EllN

€40 |U3HS  Z-1€G0Z) # 103rO¥d

10SUSS 2Inssald pue AJwIxXold /m
‘012-00 ‘LdN ‘seAleA piousjos 8|gno [enq ‘4ejdepy SABA

ELTY

EL/YL/Z ‘Buluuep " A8 GINOIHO

€L/L/Z ‘[eo0lIag M A8 NmMva

11% 4O NOILYZIHOHINY NLU¥M ¥OI¥d HLIM 3O ¥30¥O0 NO 1d3OX3 ¥INNVIW
ANY NI 03DN00¥d33 38 OL LON “ONI‘NOILYWOLNY TVIILSNANI 1LY 4O AL¥IdO¥d

Auedwo) passjsibay 1006 OSI

WOJBI-IEMMN  6G28'C// 616+ XES

woo'e-je@oj Jlews  GLL0ZLL 646k + 1oL
VSN 6£52 ON ‘xedy ‘aAuQ ypompoos Lo}

——

isishant il LN

| —

NOLDIrO¥d FIONY PiE

“SAFLEWITIW
NI 33V SNOISNIWIA 1TV
"ONIMVAA 3TvOS ION Od

NeEETOEEN
ISIMYIIHLO SSIINN :SILON

lio o oo

¢S

S

“19buey) |00 a8y}
JO BpIS |00] 3y} U0 N-¥ 8y} aysoddo pasn aq isnw | -H¥r-1Z 16 %00|q Jaoeds Jaydepy aalep
9INPO [0U0D JBulOId Jueldwo) p 1d :N-G1a-L2L6 .

10SUSS aINssald pue
Aywixoid /m ‘0L2-00 ‘LdN ‘SSAlEA plousjos a|qnoq [enq “Jsidepy sAEA N-YHr-1ZL6 .
SQ37 /M S10SUBS dNd pajesBaju| uebueyd 001 012-00 NS-0-0-0-0-AV012-12L6 .
:$8pNnjoul 8A0ge UMoys INS-0-0-0-0-571avdr-WvoLe-1216 8yl
's|lejop |euoljesado pue welbelp JInd.Io onewnaud ay) 1o} € }9aUs 0) Jajoy
"9PLLIBAO [ENUEW BU) JO 3Sh pue
suoneuBisap uid J0}08UUO0D 8y} BUIUISOUOD UOBWIO)Ul PUE S8JOU [BUOIOUN) 10} Z }98US 0} J3joy

l

:S)ON [BJOUSD)

WS-0-0-0-0-WvO0le-Le Fm/

D
D

ey
(2]

i A

,
b

v imns

,
) |

!

m | 9ABA
(]9

=
BE

Pl Ym soepsjul
|eouo8|8 %o0jq uid
8|Npol |0u0D G1d

o

w(m_\o; 137

,JOsUSS BINSsald, OF MBIA PSISCDIRI ‘€ JUS !

*,JOSUSS AJIUIXOId, UIOL)
003

moi

ElYe] L=

uoydussag|Aay|

SUOIOBULOY BoBUAU|
J8wo}sny a|npoj [eublis/io5uo)

>
O
O
O
O
L)
e OF || © .
....w.uw.iﬂlk @T I @W ¢}
oo | — zus

*alay UMoys Jou aJe Jnq ‘ebexoed
J196UBYD |00} Bseq 8y} yum paliddns

ale sindul 3007-0}-Apeay pue ‘paxdojun
‘pax00T 10} S8|qeD Josuag pajelbaju| ay L

o
Z]
g1

°
0 ol
o
0" ol
o
(L T]

v

G710 Yum soep3uI
I} [eoL}o3|8 %oo|q uid
Jaidepy SABA vHr

WN-vdr-1cle

(umoys N-G1Q-1216)
aInpoj [eubig/jonuod

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 » www.ati-ia.com

C-26


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 ¥4dr-0¢-0€96 | 9

NOISIAZY ¥IEWNN ONIMYIT

10SUSG 8INssald pue ANWIXoid /M
‘0L2-00 ‘LdN ‘S@AleA plous|os sjgno( [enq ‘Jejdepy dABA

azs Ell/eN

il | €40 zZimHs  Z-LEGOZ| #1DIAONd | NOLOIOMTIONY P

€L/pL/Z ‘BUILUB |\ A8 GZHDIHO

EXIT CLIYL/Z ‘|eoollag A\ A8 NMVIQ

11V 40 NOILVZINOHLNY NILLAM 3OI¥d HLIM 3O 33O NO 143DX3 ¥INNYW

ANY NI @3DN00¥43¥ 38 OL LON "ONI ‘NOWLYWOLNY TVIMISNANI 1LY 4O AL¥FdOdd
SEEBEBWITIW

Aueduwio paisjsibay 1006 OS/ NI 38V SNOISNIWIA 1TV

Eu@m\..cmé_\s\s 65297//616°L+ Xed 3@.—&1&@%&.&“\. |F< "ONIMVYA 3TVIS ION Od
wooer-je@ojul jews  GLLOTLL 646 L+ 181 i

VSN 66522 ON *adyy ‘alig ypompoos L0} ( R

1dN p/L
Hod Alddng a1y
Hed 9|qeadlnes
Jsjdepy aAlBA 8y} yim
palddns ajged J0suag ainssald
8100-06Ndt-00LdSN-O-0Z16

‘9|qeadInIas 1 ON

ale nq Jaydepy aAleA auy
yum payddns ale sjged
pue Josuag Ajwixoid

Ued 9|qeaoines
qeL Buluielsy a|qed

aNo ¥
(DA 62-61) | aNEA Ydjeun €
4
!

(DA 62-61) T @NEA YdFeIUN
(DAA 62-61) C BAIBA PUB | 3NBA YR
(z a10N) [eubiS uid

s|eubig 10}03UU0) dA[BA | d|qeL

L 12 3TVOS
0 vli3a

L

L 37vOS ¥ 9JON) SHod
divli3a 1sneyx3 10jid

| SJON 993
(palddng aue jageq
Bujuiep) pue maiog JanoD)

¢ 9JON 998
SS900Y Jausjse
Bununo Z eAlep—1

€ 9JON 89S
$S800Y Jausjse
Buuno | aAleA—]

Z 9A[BA X207 0} 8sN
SS90V 9PLUSAQ [BNUBI Z SAI_A | 9JON @9S
(paiddng ase
|1oge] Buluiepp pue maidg Jan0D)
Z 9A[BA X20|un 0} 8sN
$S900Y 9PLUSAQ [eNUB Z SA[BA

J9)depy anleA
plousjog-8|qnoQ |enq
N-vYr-1zLe

'spod }sneyx3 10jid 8y} Jo1}Sal Jo ¥00|q Jou op ‘uoijesado aajeA Jadoid ainsue o

'ss900.d [BAOWSI BAJEA BY} Bulnp

1ed o|qesoines
00-2000L0L-06v€ N
SIBINIA Isneyx3

NINLIN SdllewnN X€

L 1 37v0S
Vv vi3da

T

J10}08UUOD ploud|os dAjeA 8y} BuiBewep ploAe 0} uaxe)} aq p|noys aie) "dA[eA U}

ulejal ey} SMauds }9s Julod BUOD S} USS00| 0} Pash aq 0} S| A8 Xay Wwg \y “uolenys
Juswaoe|dal dAjeA e Ul AJUO pash 8q 0} aJe S8|oy SS90 BuuNOW BA[BA 8y ¢

"9INPO J8ulold jueldwod p 1d IN-G1d-1 216 dU} SE Yons (jsuueyo jenp

*9'1) sjeubis yojejun Juspuadapul om) Buiieiauab a|nNpo [04juU0D B Y)im djesado 0}
paubisap si Y 8UL ¥00|g Uld-F U} BIA SNPOJA [0J}UOD By} WOJ) paoINos aJe sjeubls g

‘paysiuly uaym sjage| Bujuiem pue smalios Janod ay) soejday
[ ‘(Alsnoaue)nwis passaidap aq }snw) SapLISAO [ENUBW SABA U}oq ssaidap Ajjlenuew
ISIMIFHIO SSIINN SILON pUB UMOYS SUOI}EO0| OM] 8} Ul 108[q0 Jun|q Jejiwis Jo A8y X8y wwg pus-jjeq e uasu|

*9pLISAO [ENUBW

8y} Jo uonenjoe 0} Joud Uoledo| paIndas B ul 89 PINOYS |00} Pajeloosse pue Jabueyd
|00} Y] ‘suopenyis Aouabuiuod 0} PajollSal S| SPIIBAO [ENUBW SAJBA U} JO s
‘(2N pue L) SapLIsAQ [enueyy dAlBA Ydjejun

oM} 8y} JO UoIen)oe SNOdUBNWIS 8Y] YIIM 1nd20 /I 8SE3[8Y [00L ‘ONINMVYM ‘L

:$9)0

/d

A

| ®JON 895

(paiddng aue jaqeq
Buluiep) pue malog 18A0D)
| @AlBA %007 0} 8s

Arku_m&%www\_m oqe $S990Y SPLISAQ [BNUB | SAJBA

Buluiep) pue maiog 1an0D)

| ®AJeA YO0Jun O} 8sM
$S800Y 8pLIBAQ [ENUBJ | BA[BA

N-sianpy
isneyx3 NINLIN
SonewnN X¢

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-27


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

NOISIAZY

€0 dr-02-0€96

¥IEWNN ONIMYIT

3|

aus

¢l

Ellzely

€40 §EMS  g-1EGOZ| #10IrO¥d |NOWDION TIONY i

10SUBG 8.INSSald pue AjwIxold /M

‘012-00 ‘LdN ‘SeAle/ plous|os 8jqnoq [enq ‘Jsjdepy SAleA

ENITY

€L/L/Z ‘BUIUUB “|N A8 GIHOFHO

€L/YL/Z ‘|eoossg "M A NMVEA

11V 40 NOILVZISOHLNY N3LL¥M 3OI¥d HLIM 3O 33030 NO 1d30X3 ¥3NNVW
ANV NI G30N00¥433 38 OL LON "ONI ‘NOILYWOLNY TVIRISNANI 1LV 4O AL¥3dO¥d

Auedwo) passjsibay 1006 OSI

wooer-ie MM 6678'7// 6LE L+ XS
wooer-je@ojul w3 GLL0TLL 646+ 181
VSN 665/ ON xedy ‘anliq ypompood L£0)

_—

“SYFEWMIW

NI 33V SNOISNIWIQ TV
ﬁ@-ﬁ-ﬂﬂ“&ﬁﬂ. I.F< "ONIMVYQ 3TVOS LON O

NeEETOERN
JSIMIFHLO SSFINN :SILON

Qe

10}98UU09 9deLIdU|
Josuag Ajiwixold

10}09Uuo0) adelvu|
JOSU9g ailnssald

OaA 0E-0L nano.
2aA 0 Lud _
€ uid
Alddns 5an o
eub
SETITIY, NETITIY,
1sneyxg 1sneyxg
el € l

_ 1

JB|UN\ 1SNeyxg

)

‘sIa|NW sneyxa ayy soe|das Jo/pue joadsul Ajjesiporied ‘weiboid soueusiulew

aAlejuaAald e Jo Jed Sy "pajolIsal JoU SJe SIB|YNW JSNeyxa ay} Jeys [eoRo St} °G

‘paiiddns s| aunssaid
Jle Juaiolynsul JI A}0a1100 ajelado ] ON [IIM SAjeA 8y i3] ON "Jepaq Jo SuoIdjw Ot e palayy

pue (Jeg 6°'9-1") 1sd 001 O} 09 }e Jie pajeouqgn|-uou ‘Aip ‘ues|o payddns aq jsnw saAeA Y]

-0 Josuas Aywixoid ayy

‘A0
pue ‘AG salinbal Josuss ainssaid 8y} ‘AGZ-6| Usemiaq abe}joa \maa:m alinbaiseneABYyl g

“p¥Y[ 8y} 4O uopelado 8y} UO SUOONISUI PBIEJOP 10} [BNUBW 80UBIB}8Y
‘(IN-G1Q-1Z16 "Xd) oIl 8y} Aq pajelsusb syndui Josuas Aywixold pue Josuss ainssaid 8y}

poddns ueo Jey} s|npow [eubis [01UOD B YiM pasn aq jsnw Jajdepy SAleA IN-FHr-1ZL6 84l  'Z

'saAjeA Yjog 0} papiaoid si [eubis yoje ajbuls e ‘Jabuey [00] 8y} %oo|

0] "oojun 0} Jebuey) |00] 8y} asSnNed pue saAjeA om) 8y} azibisus o) pasinbai ale sjeubis
yoje|un juspuadapul om :8joN ‘uoiisod HO LY INN dY} Ul 81 SaAeA H1OF Usym ATNO
Moojun |Im Jabuey) |00 8y} ‘ubisap Sy} UHAA “3o0jun |00} papuajuiun ue jo Ajjiqeqoud

By} 80NpaJ 0} SBAJBA Z/G OM} MUulIIUl Aj[eoliewnaud sieidepe sAleA N-pYr-LZL6 9Ul 'L

:59)0

MBS 198 WWg X
G'ZIN) 9|0y ssadoe
Ma1os Bujuiejal
Josuas alnssald

Alddng ay

N-vdr-1cle

Josuag aunssald

¢ ANTVA

— |

10J08UU0)) Josusg
| Awixoid uid-¢ N

10}08UU0)) I0SUBS
ainssald Uid-y 8N

L ANTVA

10SUBS

10d doojun oL

Ajwixoud

J0sSusg
ainssaid

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-28


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Integrated QC-210 Tool Changer Valve Arrangement (JU4)

9.2

€0

NOISIAZY

YNr-02-0€96

33NN ONIMVIT

g

azs

4

EleN

€40 | 133HS #103r0¥d

10SUSS 2Inssald pue AjwIxoid

/M “012-0D ‘O ‘seAleA plousjog 8|gnoq [end ‘Isidepy aAleA

ENTY

91/92/8 "|edoliag "M\ A8 AINOIHO

OL/LZ/L SIBYar S AINMVIT

LV 4O NOWYZINOHLNY N3LLIM 4OI¥d HLIM 3O ¥30HO NO 1d3DX3 33NNV
ANY NI G30NQ0¥d3 38 OL LON “DNI ‘NOILYWOLNY TYISISNANI 1LY 4O AL¥3dOdd

vsn

——

Auedwo) paisjsibay L006 OSI NOILYWOLNY
Wooel-Ne’mmm  6628°// 646 L+ Xe4 TvidLsnani . |F<
woo'el-e@ojul Jlews  GLLOT//6L6 L+ 191

6662 ON *xedy ‘anq yuompood L£0)

| —

NOLD3FO¥d FIONY PIE

“S¥IEFWITIW
NI 34V SNOISNIWIQ 1TV
"ONIMYdA 3TvOS ION Od

"Q314103dS
3SIMIIHLO SSTINN :SILON

¢ 'S

ooy

“1abuey? |00 8y}
4O BpIg [00] 8Y} Uo W-pNI 8y} aysoddo pasn aq }snw | -H¥r-1.Z 16 %00|q Ja0eds Jaydepy anlep
9INPON [03u0D Joulold jueldwod p 1d IN-61a-L2L6 -«

JOsuag ainssald
pue Ajwixoid /m ‘012-00 ‘O ‘SOA[EA ploud|og 8|qno( |enq ‘1eldepy SAleA IN-PNM-LZLE  «
SQ37 /M S10SUBS dNd pejeubajul ‘Jebueyd (001 012-00 INS-0-0-0-0-NV0L2-L2L6
:$8pnjoul 8roge Uumoys INS-0-0-0-0-G7avNr-INvOoLe-1Z16 8UL
‘s|Iejop [euonesado pue welbelp JIN0uIO olewnaud 8y} 1o} € 193YS 0} Jajoy
*9PLUBAO [ENUBW B} JO 3Sh pue
suoneubisap uld J0}08UU0D 8y} BUILIBOUOD UOHEWLIOJUI PUE S8J0U [eUOIIOUN 10} Z }98US O} J3}oy

‘b

'SOJON [eJouss)

INS-0-0-0-0-AvO0le-Le 5/

POr UM s0BpS)Ul
[eouo8e ¥o0|q uid
SINPOIA |04u0D S1d

m_\?\o; 137

*JOSUBS AHUIIXOLd
mo\fomcmmmk:mmwiko.m::ZmS‘m.:m;Nmtoummo

EX=Ye] KT |

uoydussag|'Aay|

SUOIJBUUOYD BoBMAU|
Jawio}sny aNpojy [eubig/jojuo)

*2Jay UMOYS Jou aJe Jng ‘ebexoed

J9bueyd 100} aseq ay} yym palddns

m‘ aJe syndul 3007-0}-Apeay puUE ‘paxdojun
‘pax00T Jo} Sa|qeD Josuag pajelbaju| ay |

A 510 Uim soepsul
|eoujos|a yoo|q uid 7
Jeydepy aAleA pNr . 7
. 8'851 |
— W-¥Nr-1216
5 © ¢

ii
| MES

(umoys N-G1Q-1216)
8INpoj [eubIS/|013u0D

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-29


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 ¥Nr-0¢-0€96

NOISIAZY ¥IEWNN ONIMYIT

10SU8g ainssald pue Ajwixoid
/M ‘01Z-0D ‘O ‘seAleA plous|og 8|gnoq [en ‘Ieidepy SAleA

g

azs

2L | gso0 zumms #103r0¥d | NOLOIFON4 TIONY P
ElLoN

'ss900.d [BAOWSI BAJEA BY} Bulnp

10J0BUUOD PIOUB|0S BA[BA 8y} Buibewep ploAe 0} usye)} 8q PINoYs aJeD "dAJeA 8}

ule}al JeY) SMalos 39S julod BU0D B} USSOO| O} Pasn a4 0} S| A8 Xay Wwg \/ "uolen)is
Jusweoe|dal BAlBA B Ul AJUO pasn 8q 0} ale s8|oy sseode Buunow sAjlgA 8yl g

91/92/8 "[e00LIDg "M A8 GIADIHO

aw|  SULHLSBIAr'S W “o|npoyy J8UoId JuBldwod p Td IN-GTa-LZL6 SU} Se Yons (jouueyo enp
ANV NI GEONOONEEH 38 OL ION NI NOUYOLY TVIISNONI 1Y 40 AL830 9'1) sjeuBls yojejun Juspuadapul om} Buneistab S|NPOj [03UOD B UM Sjesado o}
) SHIEWITIW paubisap sI yN 8YL "20|g Uld-y U} BIA 8INPOJA [0JUOD Y} WOJ) padInos ale sjeubls 'z
Aueduwog pesejsibey 1006 OSI NOILYWOLNY . < ~ NIZ3V SNOISNIWId 11V
EE.SNMMN%E m%wwwwmmﬁwﬁ qm TVIdisnani |F ONIMVQ ATYOS LON O ‘PaysIUL USYM S|aqe| BulLIEM PUE SMaIOS JoA0D By} aoe|doy
" o iy s . Ul I
VSN 66522 ON “xedy ‘oaq yuompood Lgo) ( Q3HI03ds (Alsnoaue)nwis passaldap aq }snw) SapLIBAO [eNUBW SA[BA U}oq ssaidap Ajjlenuew

ISIMIFHIO SSIINN SILON PUB UMOYS SUOIEIO| OM] 89U Ul }99[qO Jun|q Jejilis JO A8y X8y Wwz pus-|leq e Juasu|

Hed 8|qeadiAles
10-G000€0}-50v€ N/d
(#Nr uo pajjejsul Jsydepy
Hod-9) Hod Alddng Jiy

*9pLIBAO |enuew
8y} Jo uonenjoe 0} Joud Uoledo| paIndas B ul 89 PINOYS |00} Pajeloosse pue Jabueyd
|00} Y] ‘suopenyis Aouabuiuod 0} PajollSal S| SPIIBAO [ENUBW SAJBA U} JO s
‘(2N pue L) SapLIsAQ [enueyy dAlBA Ydjejun

oM} 8y} JO UoIen)oe SNOdUBNWIS 8Y] YIIM 1nd20 /I 8SE3[8Y [00L ‘ONINMVYM ‘L

Jed 9|qeaoines ‘s9j0
Jajdepy SA[BA Y} uim
paiiddns s|qeo 10suag ainssaid
8100-06Ndt-00LdSIN-O-0216
Jaydepy aAlep
plous|og-a|gqno [eng
N-Nr-12L6
"8|qesoIAIas | ON dJe
inq Jojdepy dAleA By}
yum paljddns aie ajqed Hed 9|qeadinles
pue Josuag Ajwixold 00-2000L0L-06¥€ N/d
sIBNIA Isheyx3
Hed 8|qesoineg NINLIN 8dewnN X¢
qe] Buiuieley o|qed
262€-02-002€ N/d
aNo 14
(OAA 62-61) | 9ABA UdEIUN € S10N) SLO
(0aA 62-61) Z SABA YolelN Z Aww:w;%m_ M__M_ L1 3IV0S
(DA 62-61) Z SNBAPUB | BABAURT | L1 37V0S v IivLl3a
(z @0N) |eubis uid g7v.LlIa J—
sjeubig 10}29uUu0 AAJBA 1| d|qeL /
| SJON 993
L2 31vOS (palddng aue joge
O 1ivi3a bujuiep) pue maiog Jan0))
Z ©AlBA X007 0} 8s NC)
SS900Y SPLIBAQ [ENUE| ane, | 9JON ©9S AN
o c:% oK mn_\ |9qe BulUIBA\ PUEB MBIDS JOAOD) L =
HUNON ¢ SAIBA Z 9AJeA Yo0jun 0} 9sn
$S900Y SPLIBAQ [BNUBIN Z SAJBA N (-ssemwnpy
€ 9JON 895 Isneyx3 NINLIN
SS900Y Jaud)se | 8]ON 993 7 sojjewnN X¢
Bununop | sAeA—] (palddng aue |jage]
Bujulep) pue malog JBA0D) o
BuisnoH Jeydepy aAleA 8y} Ul M._m.mﬂyvm\nu_ | 910N 88§ Lo e | anen
$S900Y SpLIBAQ [enue aAle,
: Bumiy Jeydepy (pa1ddng aue jage V SPLUSAD | WL SAIBA

Buiulep) pue Meiog J18A0D)
| ®A[EA XO0Jun O} 8sn
$S800Y 8pPLISAQ [BNUBY | BA[BA

9 p/1 & ym paljddns st N-NP-121L6 UL

‘spod }sneyx3 10jid 8y} JO1}Sal 1O ¥00|q Jou Op ‘uoijesedo aAjeA Jadoid ainsus 0]y

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-30


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 ¥Nr-0¢-0€96 | 9

Zl €40 g133Hs

#103r08d | NOWDIrONd F1ONY P

NOISIAZY ¥IEWNN ONIMYIT

10SUBS 8INssald pue Ajwixold
/M ‘0LZ-0D ‘O ‘SaAleA plous|os 8|qnoq [end ‘Jejdepy SAlBA

s 3IvOs

91/9Z/8 "|evolag ‘M A8 PAOIHO

ENITY

9L/12/L SIdYSr °S AgNmMvad

11V 40 NOILVZISOHLNY N3LL¥M 3OI¥d HIIM 3O 33030 NO 1d30X3 3NNV
ANV NI G30N00¥433 38 OL LON “ONI ‘NOILYWOLNY TVIRISNANI 1LV 4O AL¥3dO¥d

Auedwo) passjsibay 1006 OSI

woo'eriE MM 6679'7// 6LE L+ XS
wooer-je@ojul w3  GLL0TLL 66+ 181
VSN 665/ ON xedy ‘anliq ypompood L£0)

"isishan) il LN

_—

“SYFLEWMIW
NI 33V SNOISNIwIa 11V
"ONIMVYA 3TVOS ION Od

NEEETOERN
JSIMIFHLO SSFINN :SILON

O

J0jo2uUu09 aoepdu|
Josuag Ajwixoid

10}08UU0) adeud)u|
Josuag ainssald

OdA 0€-0L indino- Alddng 0aA §
OaA 0 }uld g ud Juig
€ uld
[eubis Aiddns 0an o Indino+
¥ uld ¥ uid zud
JBININ JBININ
1sneyxg 1sneyxg
el [l € b

_ 1

)

‘sla|ynw }sneyxa ay) aoe|dal Jo/pue joadsul Ajjesipouad ‘weiboid soueusjulew
aAljejuanald e Jo Jed sy "pajolL)sal JoU ale SIa|nW }SNeyxa ay} Jey) [eoRo sl G

‘paiddns s| aunssaid
Jle Juaiolynsul ji A}0a1100 ajelado | ON [IIM SAjeA 8y i3] ON "Jepaq Jo SuoIdiw Ot Je palayy
pue (Jeg 6°'9-1") 1sd 001 O} 09 }e Jie pajeouqgn|-uou ‘Aup ‘ues|o payddns aq jsnw saAeA By

.>o\mm-or Josuas Ajwixoud ay}
vcmh>mmm:_s_uw_6w:om®5www5®£.>mw.9c®o§®nmmm=0>_aa:mw__:wmhmngw:._..m

"y 9y} 40 Uonelado ay) UO SUOIONIISUI PS|IE}OP JO) [eNUBL 9oUBISOY
(IN-S1a-121L6 "X3) NI 8y} Aq pajelauab sindul Josuas Ajwixoid pue Josuas ainssald ay)
Joddns ued jey} sajnpow [eubig [0QU0D B UM pasn ad isnw Jaydepy aAleA W-PNr-1ZL6 98Ul 2

‘SOAJeA Yjoq 0} papiaold s [eubis yoje ajbuls e ‘1abuey) |00 ay} 320|
0] "oojun 0} Jebuey) |00] By} aSNed pue SaAjeA om) 8y} azibiaus o) pasinbai ale sjeubis
yoje|un Juspuadapul om :8joN ‘uolisod HO LY INN dY} Ul 81 SaAeA H1Og Usym ATNO
so0|un Im Jebuey) |00 8y ‘ubisap SIy} YIAA "Yo0jun |00} papusiuiun ue jo Ayjiqeqold
BU} 80Npal 0} SBAJBA Z/G OM} Mullaul Ajjeonewnaud sieydepe aAleA W-pNM-LZL6 8UL L
:s9j0

(MmaI0g 305 WWg X G°ZIN)
9|0y SS90 MaJIS
Bujuiejas Josuag ainssaid

N-vNr-1gle

Josuag ainssald

Alddng ay

JB|UN\ 1Sneyxg

10J08UU0Y JOSUSS
Aywixoud uid-€ 8N

¢ ANTVA

_ 10}03UU0D) JOSUSS
ainssald Uid-y 8N

L ANTVA

Josuag

10SUBS

1od doojun oL

Ajwixoid

ainssaid

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-31


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Integrated QC-210 Tool Changer Valve Arrangement (JP12)

9.3

NOLD3FO¥d TIONY PIE

T

81/82/1 |eo0sIag "M A8 ADOIHO

c0 cldr-0c-0€96 4 'l

NOISIAZY ¥IPNNNONIMVIT | 378 ELAN

nIy1 ssed SAlBA /M 0LZ-0D ‘Y ‘Buisusg
ojsouBelq yim saajen pious|og a|qnoq [enq ‘Jadepy aAlep
T 81/GZ/1 UOSUIGOY"Y A8 NMvad

A~ ' “S¥IEFWITIW
- NI 34V SNOISNIWIQ 1TV
!ﬂgﬁﬂﬂaﬁa—q. < "ONIMYJA 3TvOS ION Od

| ‘QI4I03dS

JSIMYIIHLO SSFINN *SILON

€40 L1  |-pZL0Q) #L03rO¥d

LV 4O NOWVZINOHLNY N3LLIM 3OI¥d HLIM 3O 330HO NO 1d3DX3 33NNV
ANY NI G30NQ0¥d3 38 OL LON “DNI ‘NOIYWOLNY TYISISNANI 1LY 4O AL¥3dOdd

Auedwop passjsibay 1006 OSI
wooel-ge’mmm - 6628/ 6464+ Xed
wooel-je@ojul ews  GLL0TLL 66 L+ 191
VSN 6652 ON *8dy 'aAuq yLompood LEo}

—— [foo ool

(o]
L © |
N \I\/
@@ O T Z onlep et ©T [ © Q zus Hod coﬂm_:D\i /to& yoje
T
5o 56 O [t oF || @ Lﬁ@/oo\ﬁ@dr‘
T 1T OV‘ o PY 1T l”, \ L / [ @ =
z .E% T * T ; fozooe] 195 2 s [=E
o0 °, 7] ¥'SS oG
- / — Y ] .
@u 57a ym soepBu ®) o572 5o
|} |eouo9je o0|q uid
A€,
L omeA Y Yim S0BpIS)UI 1eidepy enien vm_,&ﬂ\ 8851

|eau308e ¥oo|q uid
SINPOIA |04U0D S1d

o] o
9r_p- o °
= 218y UMOYS Jou aJe Ing ‘ebexoed
Jabueyd |00} aseq ay} yym palddns
m‘ aJe syndul %007-0}-Apeay pue ‘paxoojun
‘paxo0 40} S8|qe) Josuag pajelbajul ayL

“1abuey? |00 8y}

0 OIS |00 Y} U0 N-ZLdr 8y} d)isoddo pasn 84 Jsnw |-yr-1L 216 %00|q Jeoeds Jajdepy oaeA ¥

8INPO [04U0D J2UlOId Jueldwo) p 1d ‘N-G10-12L6 .
JosuaS ainssald pue

Ajwixoud /m ‘0L2-00 ‘LdN ‘SOAlEA pious|os s|qnoq [eng ‘Ioydepy aAleA IN-ZLdr-L2L6 .
SA37 /M S10SUSS dNd Pajelbajul Jabuey 001 012-00 :NS-0-0-0-0-NV0L2-1ZL6 .

:S8pnjoul 8roge UMoys |NS-0-0-0-0-G7avdr-Wvole-LZzle 8yl '€

W-¢Ldr-1¢ie

‘s|lejep [euoljelado pue welBelp INduID olewnaud auy o) € 198US O} Jojey 2

“9pPLIBAO [ENUBLL BU} JO 8SN pue

suoneubisap uld J0}08UU0D Y} BUILISOUOD UOHBLIOJUI PUE S8J0U [EUOIOUN) 10} Z }98US 0} 18joy |

NS-0-0-0-0-AVO0le-Le 5/

'SOJON [eJousn)

(umoys N-G10-1216)
8|npoj [eublS/|03u0D

suizs]  w asoarey] 20| SUOIOBUUOY 8oBMBJU|

Sioaiomnul uonduosaq[Aay| Jawoysng djnpo [eubig/jonuod

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 » www.ati-ia.com

C-32


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

<0 CLdr-02-0€96 &  C:l €0 zuEs  |-pzl0gL #1004  NOwIOmMTONYPE ‘spod }sneyx3 10jid 8y} JO1}Sal 1O ¥00|q Jou Op ‘uoijesedo aAjeA Jadoid ainsus 0]y
NOISIAZY HIIWNN ONIMYYA | 37IS ELZ '$8900.d [eAOWaI BA[BA BY) Buunp
SN 10}08UUOD PIOUBIOS BAjeA 8y} Buibewep pIOAE 0} usye) 8q PINOYS 8JB0) "OA[BA BU}
onsoubeiq ym so zm»:w.%mwm_m% W__M>:%n_> mmrzmo@.wﬁ%_mu@hwnm\m/ 81/8Z/} [BO0LIBG "M, A8 ABOIHD ulejal Jey} SMaIos }8s Julod BU0d B} USSOO| 0} Pasn 8q 0} SI A8Y X8y WWE y/ "UoHeNn)s
: A : 81/62/) UOSUIGOY"Y 16 Nvad 1aweoe|dal aAeA B ul AJuo pasn aq 0] aJe S3|oy SSe00e Bununow aAeA 8y ‘€
e : *9|NPOIA 18UNOId Juenduwod p 1d IN-G]d-1ZL6 U} SE Yons (jsuueyo [enp
ANV N GEONCOREZA 38 OLION ‘DN NOLYWOLY MISINGNI v 10 A L83 e m.w._v s|euBis yoje|un juspuadepul om BuljeiaLisb sNPOJ [04U0D B Liim QESM 0}
SHIEWITIW subisap s 8y "00|g Uld-p 8Y} BIA SNPOJ\ [0J3UOD 8U} WOl paoInos a.e sjeub :
Auedwon paisiBay 1006 OS] NOLLYIWOLAY  NI38Y SNOSKAWIA TV p IS9P SI P YL 00Ig Uld-F S} BIA 8INPOJA |03UCD B} 4 p | IS 4
| wogBLIEMMM 6628 /L 616 |+ XS Tvidisnani < ONIMY3A 3TVOS LON 00 ‘PaysIUL USYM S|aqe| BulLIEM PUE SMaIOS JoA0D By} aoe|doy
woo g-pe@ojul .N\ﬂmw ﬁm\wE w\omsmwmv, 1oL ‘QaHIDIdS “(A)snosueynwis pessaidap 8q }SNW) SSPLISAO [eNUBW BA[BA Yj0q ssaidap Ajjenuelwl
Y511 66528 ON X8y 9nid YUompooD LEoL ISIMIIHLO SSIINN “SILON PUE UMOUS SUOIEI0] OM} U} Ul J08[q0 JUN|Q JE[ILUIS JO A8 X8y WIZ pus-jieq e Lasu]
ued s|qeaoines “9pIISAC [ENUBW
10-8000£0L-S0VE N/d ay Jo uonenoe o} Joud Mo_ymmoo_ painoas B Ul 8q P|NoYs |00} pejeloosse pue Jabueyo
|00} Y] ‘suonenyis Aousbunuod 0} PejoLISal S SPLUISAC [BNUBW SABA 8Uj} JO 9S(
(Ldr im pspniout oleuIdy “(zn pue Ln) S8PLLIBAD [EnuEW BAIEA YDJE[UN
/1 9Y) Hod Alddng a1y OM] 3y} JO UOIEN}OE SNOBUBYHNWIS Y} Y}IM 1NIIQ [[IM 9Se38[3Y |00 ONINMVM ‘L
15930

Jed 9|qesdines
Jsydepy SAjeA By} Yim
palddns a|qed 10suag ainssaid
8100-06Nd¥-001dSIN-O-0C16 19)depy aAleA
plousjos-s|gnoQ [eng
W-vdr-L2Le

Hed 8|qeaoinesg
00-20001L01-06¥€ N/d
SIS Isneyxy
NWLW sojewnN X¢

'9|qesoIAIss | ON
ale Inq Jsydepy aAjeA By}
yym paiiddns aie s|qeo
pue Josuag Ajwixold

Jed o|qesoineg
qe] Buluiejoy a|qed

aNo ¥

(OQA 62°61) | SNEA UoIEN B ¢6¢€-0¢-004€ N/d

(DA 62-61) T aNEA Ydjelun z } 11 31VOS
(DAA 62-61) T @NEA pUE | SABAUJJET | L1 31V0S v ivi3a

(z ?10N) |eUBIS uld a71v1i3a

Buuno | aAleA—]

\\
s|eubig 10}23UuU0) AAJeA :| d|qeL /
| SJON 993
L 2 31vOS (paliddng a.e |jage]
O 1vLi3a Bujuiep) pue maiog JanoD)
Z ©AlBA X007 0} 8s _©
SS900Y SPLIBAQ [ENUBI Z SAIBA | 9JON 99S 7\
mmwoom wwo:_w wwm (peyddns a.e A @
6 v 1sed |9qe] BuluieA) PUB MBIIS JBAOD) L =X
URUNON ¢ SAIEA—] Z SA[BA Mo0|Un 0} 8sn
$S900Y SPLIBAQ [eNUB Z SAJBA N [N-ssemniy
€ CION 905 | 1SNEYX3 NI
SS900Y Jaudjseq | 510N 995 ) SONELINN Y&
(paiddng aue jaqeq

Buluiep) pue malog 18A0D)
| @AlBA %007 0} 8s

Arku_m&%www‘_m oqe $S990Y SPLISAQ [BNUB | SAJBA

Buluiep) pue maiog 1an0D)
| @A[BA MO0|UN 0} 8SN
SS900Y SPLIBAQ [eNUBH | SAJBA

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-33


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

0 2Ldr-0c-0€96 9 A"
NOISIAZY JIFWNNN ONIMYIA 328 ElNeN
NIy ssed anfeA /M 0Lz-00 ‘Y ‘Buisuss
onsouBelq Yim seAje/ plous|os 8|gnoq [enq ‘Jeydepy aalepn
EQUN
“ILV 4O NOILVZINOHLNY NILLI¥IM JORId HLIM 3O 33030 NO Ld3DX3 dINNVW
ANV NI @3DNAO0¥d3d 38 OL LON "ONI ‘NOILYWOLNY TVIJISNANI 1LV 4O AL¥3d0dd

Aueduiog paisjsiboy 1006 0S|

WOOBH-IEMWN G628 T/L GLE |+ KBS
wooBHIEDO) JeWT  GLLOTLL BL6'L+ 161
VSN 66522 ON ‘Xedly ‘onug yLompoos L£0)

10}09UU0) d9edU|
Josuag Apwixoid

€40 ¢133HS

81/82/1 [eooliag "M\ A8 GAOIHO

NOILDIMO¥d FIONY P

T

L-¥21L08) #103rodd

81/GZ/L UOSUIGOY"Y A8 NMV¥Q

——

“SIEWITIW

NI 33V SNOISNIWIQ TIY
i-ﬁ.@ﬂﬁ“%uw. |F< "ONIMYQ 3IVOS LON O

"Q3HID3dS
ISIMYTHLIO SSTINN :SILON

| ——

10}09UU0) adeLivdju|
JOosuag ainssald

OaA 0801 nano
2aA0 Lud .
g uld

Alddng 5aA 0
eub|

! % :_m v

BETITI JBIUNIA
1sneyxg 1sneyxg
el Il € l

_ 1

)

‘sIg|NW jsneyxe ay) soejde Jojpue 1adsul Ajjesiporad ‘welboid soueusiulew
aAejuanald e Jo ed sy "PejoL)Sal JoU SIB SIB|NW JSNBYXS By} Jeyy [eoRuo sIy '

‘palddns si ainssaid
Jie juaiynsul ji A}os1102 ajesado | ON [|IM S8AJeA U] 131 ON 'Jelaq JO SuoIoiw Qf Je palayi
pue (Jeg m.w.r.vw 1sd 00| 0} 09 }e Jle pajeolqn|-uou ‘Aip ‘ues|o pajiddns aq }snw SaAleA Byl  f

.>o\m.o_. Josuas Ajwixoid ayy
ncm,>mm¢\__:co‘_‘_owcomQ:wwoamS,>mm.m_‘cmw\éonmmﬂ_g_a%wm‘__:cm._mwzgwf.m

.vw:.mc:o:ozmhwaomE:omcozozszUm__Emv._otm::mE wocwhwﬁm .:>_.m._n_
-1LZL6 Xd) ¥l ayy Aq pajelausb syndul Josuas Ajwixoid pue Josuas ainssaid ay) Hoddns
ued Jeyy sinpow |eubls [0U0D € Yym pasn aq isnwi Jajdepy AleA N-ZLdr-LgleduL g

"saAeA yjoq o} papinoid si jeubis yoye a|buls e ‘Jabuey) |00] 8y} 390]
0] "joojun o} Jabuey) |00] 8y} 8SNED puE SBAJBA OM) 8y} 8z|Biaus o) palinbal ale sjeubis
yojejun Juspuadapul om | :8joN "uolisod HOLYINN dU} Ul 81e SeAleA HLOF Uaym ATNQ
oo[un [iIm Jabuey) 100 8y} ‘UbISap SIy} YNIAA “SO0jun |00} papusiuiun ue jo Ajjiqeqo.d
8y} @onpal 0} SAAJeA Z/G OM) ullejul Aleoniewnaud sieydepe aAleA N-ZLdr-LZL6 98Ul L
:s9)0

M8I0S JoS Wwg X
G'ZIN) 9J0Y Ss8d0e
malos Buluieyal
J0SuUSg aInssald

Alddng aiy

Ja|N|A Isneyxy

Z ANTVA 4 14

— |

J0JOBUU0Y Josusg
i Aywixold Uid-¢ 8N

10}08UU0D JOSUBS
ainssald Uid-v 8N

L INTIVA

Josueg

Josuag

1od oojun o1

Ajwixold

2inssald

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-34


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Integrated QC-310 Tool Changer Valve Arrangement (JUS5)

9.4

€0 SNr-02-0€96

NOISIAZY ¥IINNN ONIMYEA

3|

3z

¢l

3vOs

€40 |133HS  €-80Z0E) #10Irodd

10SUSS 8INSsald pue ANWIX0Id/M
‘0L€-00D ‘O ‘SBAIBA pIoUs|0S B|gnoq [enq ‘Jeidepy SAlBA

E)ITN

G1/62/9 [Bo0MIag "N\ A9 ADIDIHD

G1/52/9 Bupung °f :AgNmMvaa

11V 40 NOILYZISOHLNY NILL¥M YOI¥d HIIM ¥O ¥30¥O NO 1d3OX3 ¥INNVIW
ANY NI GQ30N003d33 38 OL LON "DNI ‘NOILYWOLINY T¥IHISNANI 1LY 4O AL¥3dOdd

Aueduwiog paisjsiboy! 1006 OSI

wooBH-e MMM 662971/ 646')+ Xed
wooerje@ojul Jiew3 G107/ 646°L+ 0L
VSN 6652 ON “xedly ‘anliq yLompood L£0)

_—y

"Risishan il MNP

| —

NOWD3O¥d TTONY PiE

“SYILEFWITIW
NI 33V SNOISNIWIa 1TV
"ONIMYYA 3TVOS LON Od

‘a3dIo3ads
JSIMIIHLO SSFINN :SILON

To—

o o

— o7 e
.
o ) |49
O6 00

NS-0-0-0-0-\VO0L€E-LCL6

Z 9AleA

“JaBuey) [00] 8y}

40 9PIS [001 B} UC -GN SY) 8)is0ddo Pasn 8 JSNW |-pHr-1ZL6 %00|q Jeoeds Jaldepy SAA ¥
8INPOW [03U0D Jouljoud JUeldwo) p Td {N-G1A-LZL6 -

JOsuag ainssaid

pue Ajwixold /M ‘0LE-0D ‘O ‘SOA[BA piousjos ajgnoq [eng ‘1eydepy aAl_A IN-SN-12L6 .
$Q37 /M slosusg dNd pejesbeyul Jebueyd 1001 01£-00 [INS-0-0-0-0-INV0LE-LZL6 .
:S8pN|JoUl 8A0gE UMOYS |NS-0-0-0-0-S7AdSNM-INVOLE-LZL6 dUL '€
‘s|iejap [euonesedo pue wesbelp IN0JI0 ojewnaud 8y} Joj € 198yg 0} Jajey 2

"8PLIBAO [BNUBW 8Y) JO 8Sh puB

suoneuBisap uid J0j08UUOD 8y} BUIUIBOUOD UOIEWLIOJUl PUB SBJOU [BUOIIOUNY 1O} Z 193YS 0} Jajoy |

:SOJON [eloud

7 /%n_ yore]

1od yoyeun

M e © 1

| 9AleA

SN Ym soepsjul
|eal3o8d ¥o0|q uid

S0 Ypm soBp8UI
1013088 00|q uid

L1 3TVOS
O 1vli3aa

*JOSUSS AJILUIXOId SOM
81/L1/01 HIM Josuas ainssaid 10y oy malA ‘€ 1US 11ze/1 003 | €0

240Q | Jooiu| uoyduosaq | ‘Asy

O lajdepy aAleA GNP
° ° W-SNr-1216
i ° °
aNo 2 =
(DAA 62-61) L @NEA YoRuN €
T sy ovas st
J9Bueyo |00} Bseq 8y} yym paiddns
(Z ®10N) [eubiS i uid —J ale syndul 3007-0}-Apeay pue ‘paxoojun lm
sleubig 10J05Uu0) dAlRA i} BlqeL ‘paxo0T Joj sa|qe) Josuas pajeBajul 8y

- @mcozowc:oo soep8)U|

Jawoysng ||NpO [eubig/jojuo) (umoys N-G1a-1216)

a|npop [euBis/jonuo)

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-35


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 SNr-0¢-0€96

NOISIAZY ¥IBWNN ONIMYIT

g

azs

2l €40 ZI3MS  €-QOZOEL #10IrO¥d | NOWDIOM TIONY P
Vo8 .

1osuag ainssald pue AjWIXoid/m
‘01€-0D 'O 'saAleA plousjos s|gnoq enq ‘Jejdepy sAleA

G1/62/9 |eoolag "A\ ‘A8 OIMDIHD

EAIY G1/GZ/9 Bunung " A8 Nmvaa

11V 40 NOILVZIIOHINY NILLIIM 3OI¥d HLIM 3O ¥30¥O0 NO 1430X3 ¥3NNVYW
ANV NI 43DNJ0¥d33 38 OL LON "ONI ‘NOILYWOLNY TYRISNANI ILY 4O AL¥IJO¥d

Auedwo) passjsibay 1006 OSI

woo'e-ne MM 66287/ 6L6°4+ Xe4
wooeIje@ojul Jews  GLLOTLL 6LE L+ 191
VSN 66522 ON *ady ‘Ald ypompood) LEo)

——

“SYTLEIWIMIN
NOLLYWOLNY NI 38V SNOISNIWIQ TIV
TVIidLSnani "ONIMYYQ 3TVOS LON OQ
‘QIHI03dS

ISIMIFHLO SSIINN *SILON

€ 9JON 993
SS90y Jous)sed
Buizuno|y g anjea

¢ SJON 993
SS900Y Joudise

Bununoly | aAleA

(LdN v/1 S!

BuisnoH Jaydepy aAleA 8U3 Ul pealy} ayl)
Buip4 Jeydepy

9 p/1 e yim payddns st N-GNM-1Z1L6 dUL

Hed 9|qesoines
10-G000£01-S0vE N/d
(gNr yum papnjour saydepy
Hod-9) Hod Alddng a1y

Hed 9|qeaoinlas
Jajdepy SAleA Bu} Yim

palddns ajged Josuag ainssald
8100-06Nd¥-00LdSIN-O-0216

‘9|qeaoInIas ] ON

aJe Jnq Ja)depy aAjeA 8y}
yym payddns ale s|ged
pue Josuas Ajwixold

| 9JON 99S
(palddng aue jage]
Buluiep) pue malog JSA0D)
Z 9A[BA MO0jun 0} s

a1v1l3a

paliddng aue |age
UIUIBAA PUB MBIOS JOAOD)
| @AJeA Yo0|un 0} 8sn

W SIIVEETS

SS800Y 8pPLIBAQ [BNUB | BAJBA

1Sneyx3 101id

$S800Y SPLIBAQ [ENUBIA Z BAIBA

‘spod }sneyx3 10jid 8y} 1oMISal 10 %00|q Jou op ‘uonelado aAjeA Jadosd ainsus 0]

'$$900.d [BAOWSI BA[BA BY) Bunnp
10J08UUOD PIOUB|0S BA[BA 8y} BuiBewep pIOAB 0} Usy e} 8q PiNoYs 8IB) "dAJeA 8y}
urejal Jey} SMauos 18s juiod 8U0D 8y} UBSOO| 0} pasn a4 0} S| A8 X8y W i/ Uolen}s

juswaoe|dal 8AeA B Ul AJUO pasn 8q 0} SJe S|oY SS8d0e Bununow aAleA 8y] g

*9|NPOJA Joul0ld Jueldwod p Td IN-G1a-1ZL6 dY) S yons (jsuueyo [enp
"8°1) sjeubis yoyejun juspuadapul om) Buiieseusb 8iNPopy [03U0D e yiim sjesado o}

paubisap sI GNI YL 00|g Uld-7 Y} BIA SINPOJA [0JJUOD U} WOJj PaoINos ale sjeubls 'z

‘paysiuly usym sjage| Buiuiem pue SMaios JoA0D ay) aoe|deay
‘(Alsnosueynwis passaldap aq }Snw) SapLISAC [enuew dAjeA Yjog ssaidap Ajlenuew
pue UMOYSs SUOI}ed0| OM} BY} Ul }08[CO JuN|q Jejiwis Jo A8y Xay Wiz pua-|jeq e Jasu|

"8pLIBAO [enuew
8y} Jo uonenioe 0} Joud UOEDO| PaINdBS B Ul 8q PINOYS |00} Pa)elosse pue Jabueyd
100} 8y “suonenyis Aousbuiuod 0} PajoLISal S SPLLIBAO [BNUBW SAJBA 8} JO S
"(ZN pue L) S9PLIIBAQ [ENUEW SA[EA Y3E[Uf]
oM} 3y} JO LUOHENIIE SNOJUEHNWIS DY} YIM INJIO [[IM ISEI[3Y [00L ONINYYM L
1$9)0

19)depy anleA
prousjog-8|qnoq |en@
W-GNr-12L6

Hed 8|qesoines
00-2000101-06¥€ N/d
SIBYNIA ISneyx3

N LA soljewnN X¢

Vv Ivi3da

| 90N 993

(pa1ddng aue [ageq

Bujuiepn pue malosg 1aA0))

| 9A[BA 3007 0} 8sN

SS900Y SPLUIBAQ [ENUB | SAJeA

| 9JON 993
(paiddng aie jage

Buluiep) pue malog J9A0D)

Z 9NBA X007 0} asn

$S900Y 9plIBAQ [ENUBI Z SAIBA

1sneyx3 NWLIN
SOlleWwnN X¢€

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-36


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 SNr-0c-0€96 | 9 4

€40 €IS €-80ZOE| #1D3rO¥d | NOUDAO¥I TIONY pie

NOISIAZY ¥IIWNN ONIMY¥A | 3218 3vOs

10SUSS 8INSSaId Pue ANWIX0Id/M
‘0L€-0D 'O ‘saAeA plousjos s|gnoq [end ‘1aidepy aAleA

G1/62/9 [eooliag "A\ ‘A8 dIAOIHO

ENTY

G1/Gz/9 Bunung " A8 NMvaa

1LV 4O NOILVZISOHLNY N3LL¥M 3OI¥d HLIM 3O 33QHO0 NO 1d3DX3 33NNV
ANY NI G3DN00¥433 38 OL LON “ONI ‘NOILYWOLNY TVIHISNANI ILY 4O AL¥3dOdd

Aueduiog paisjsibay 1006 OSI
MMM 6528 /L 616 )+ Xed
wooB-Ne@oj e  GLL0TLL 646 )+ 1oL
VSN 6652 ON “xadly ‘anlig yLompood Lo}

_—

“SIFEWITIW

SNOI
noigesty M N | oUERA

‘@3idI03ds
JSIMIIHLO SSTINN :SILON

| —

10}29Uu0?) ddEdU|
Jlosuag Ajwixold

10}99UU09 ddkeLIBU|
Josuag ainssaid

OQA 0€-01 nano.
00N 0 b ud .
g uid
Aiddns 0aA 0
eubl
SETITLII SETITI
}sneyx3 }sneyx3
el | € b

_ 1

g

Ja|N 1sneyxg

'sla|ynw }sneyxa ayy aoe|dal Jo/pue Joadsul Ajjeoipouad ‘weiboid soueusiulew
aAljejuanald e Jo Jed sy "Pajol)sal Jou e SIa|yNW }Sneyxa ay) jeyy [ednd st

‘paiddns s| aunssaid
Jre yusioiynsul i Aoa.1loo ayesado | ON [|IM SBAlEA 8Y] :J1ON "Je1aq Jo SuoIoIW Of Je palsyly
pue (Jeg m.o._‘.vw 1sd 001 O} 09 }e Jle pajesuqn|-uou ‘Aip ‘uesjo paliddns aq }snw SaAjeA 8y

"GN 9Y} Jo uoljesado 8y} UO SUOHONJISUI PaJIE}aP JO) [ENUBW BOUBISJOY
‘(IN-G1a-1216 "X3) GNr 8y} Aq pajelauab sindu; Josuas Ajwixosd pue Josuas ainssaid ay}
oddns ueo Jey) sjnpow |eubig [043U0D B YIm pasn aq isnwi Jejdepy aAlBA IN-GNM-1ZL6 YL

.wm>_m>58EvmuSoﬁw__mcm_mco«m._m_mc_mm .._mmcm:w _oo.rmsv_oo_
0] "Joojun o} Jabueyd [00] 8y} 8sned pue saAjeA oM} 8y} 8ziBiaus o} pasinbai aie sjeubis
yojejun juspuadapur om| :9JON "uolsod HO1YINN BY} Ul 818 SBABA H1OF Usym ATNO
3oojun [m Jabuey) |00 ay} ‘ubisap SIu} UNIAA "X20jun |00} papuajulun ue jo Ayjiqeqold
8y} 90Npal 0} SBAJBA g/G OM] Yulalul Aj[ednewnaud siejdepe aAleA N-GNM-LZL6 dUL

:s9j0

¥ 910N

Alddng ay

MBIOS }9S Wwg X
G'ZIN) 8|0y ssad0e

Z ANTIVA 4 14

MaJos Bujuiejes
J0Suag 8Inssald

N-SNr-1¢Le

— |
—

J0}0BUU0Y Josuag

Anwixoud Uid-€ 8N

L ANTVA

Josuag 104 007 01

1od ¥o0jun oL

Ajwixold

J0JOBUU0Y Josusg
Josusg eunssaid Uld-v gIN

ainssald

‘b

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-37


http://www.ati-ia.com/

€0 LLIM-0Z-0€96 | € | Tl | g0 jumms |-ggJ09) #L0AOM |NOLOIOHITIONY P
NOISIAZY HIININ ONIMY¥A | 37IS 2vOs 4d .._n_mm:mﬂo |001 8y}
JO 9pIS |00 By} U0 N-Z L[ 8y} apisoddo pasn aq Jsnw |-pHM-|Z L6 %¥00|q Jeoeds Jaldepy sAeA ¥
» C 40SUBS 2INSSaId PUE AIWIXOIA/M | o111 | jeoouag  Hacsiomo e 3INPOW 00D Jauljold uBldWoD P Td {N-GT1A-L2L6 -
01€-0D "LdN 'S9AleA plous|os 8|gnog eng ‘Joidepy aAle , J10SUBS aINssald
nw  OVOMLL EPELTY MaNmYEd pue Ajuwixold /M ‘04 €-00 ‘LdN ‘SOAleA plous|os 9|gnoq [eng ‘Jojdepy SAA [N-LLI-LZL6
e oA R ST o S ST/ OSaS AN Pl o oot ke 00 SO0 OO NYOIE Ll il ¢
Auedwog paigjsibay 1006 OSI NOILYIWOLNY NI 33V SNOISNIWIA TV ‘s|iejop |euonesado pue weibelp 3InouId dijewnaud ay) Joj € 199YS 0} Jayey 2
EDW Bl-eMMM  66Z8'T//616°)+ XeS TVIHLSNANI . |.-< "ONIMVd 31vOS LION Od 5 6 "9PLIIBAO [enuew 8y} Jo 8sn pue
wooer-iewojul Jews  GLL0CT/L 61671+ 181 g suoneubisap uid J0}0auuo9 ai UIUJB2UO0D Uoljew.lojul pue sajou |euoljouny Jo. 99 0} J8je .
VS ‘66522 ON Xedy ‘erlid ypompood LE0} " SSMEIHLO SSTNN “S51ON Aeubisep e o o Heuios P 1ot [ErolunL 4 ¢ cwmuoz*_mw_m:o r

WS-0-0-0-0-NVO0LE-L2L6

-

®

-
¢ SMIeA IR Op) [ ®
%/@ e b | @

11T TT] T T
o N B[ ——
iy iy 3 i 7'99 /

00

Integrated QC-310 Tool Changer Valve Arrangement (JT7)

e IR 1 === |« PO © Q) KX
u@ 3INPOJ [04JU0D )
g | L <D0l &)
@ © [BOL13O8® %00]q Ul
L1 Yim aoepsjul - lsydepy anjep t.n\,,\< 4
_mm_:om_m 300|q
uld s|npoj |ou0) y—\ N-21r-1¢216
5 © o
° ° EHUJU_E =
e
° ° SIS,
] "848y UMOYS Jou ale Ing ‘abexoed =
Jabueyo |00} aseq ay} yum paiddns
m‘ aJe sjndul ¥007-01-Apeay pue ‘paxoojun lm
‘pa)007 Joj sa|qe) Josuag payelbaju| ayl
L2101 ur 10sUSS AIWIXOI SOM | ¢ (umoys N-S1a-1216)
1OSUSS BINSS9Id 10} Sl MOIA '€ IS 112e/1 093 SUOI}08UUOD doBUB)U| a|npol\ [eubig/jonuo)d
o100 | 1o10mul uoyduoseq | Aoy Jawojsny a|npoj\ [eubig/josuo)

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors
9.5

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 » www.ati-ia.com
C-38



http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0

NOISIAZY

11r-02-0€96

¥IBWNN ONIMYIT

g

azs

43

3vOs

€40 ZI3MS  |-gZ/0Q) #103rO¥d

losuag ainssald pue AjWIxoid/m

‘01€-0D ‘LdN ‘saAleA plousjos 9|gno( end “Iaidepy aAl_A

ENTY

9L/0L/L 1 [Bo0LIag "N\ A8 AIAOIHO

9L/0L/LL ‘BeL Y ‘ASNMVAd

11V 40 NOILVZIIOHINY NILLI¥M 3OI¥d HLIM 3O ¥30¥O0 NO 1430X3 ¥3NNVYW
ANV NI 3DNJ0¥d33 38 O1 LON "ONI 'NOILYWOLNY TYRISNANI ILY 4O AL¥3dO¥d

Auedwo) passjsibay 1006 OSI

woo'e-ne M 66287/ 616°4+ Xed
wooe-je@ojul Jlews  GLLOTLL 6LE L+ 191
VSN 66522 ON *ady ‘A ypompood LEo)

——

NOILLYWOLNY
TvidLsnani " A~ 4

NOILD3rO¥d FIONY P

“SYFLEWITIW
NI 33V SNOISNIWIQ 1TV
"ONIMYYA 31VOS ION O

‘Q3I03dS
ISIMIFHLIO SSIINN *SILON

Jed 9|qesoines
Jaydepy SA[BA U} yim
palddns ajged Josuasg ainssald
8100-06\dt-00LdSN-0-0216

*9]qeadlnIas | ON
ale jnq Jaydepy aAlBA BU}
yym pajddns ale s|jqed
pue Josuag Ajwixoid

aNs v
(0aA 62-61) | @NEA YdKElUN € .
(0an 6z-61) z dMEA YoYEN 4 Fm._ F.__m,_q._k,qm_oﬁ_w (¢ ©10N) SHod
(DAA 62-61) T @NBA PUB | BAlBAYJRRT | }sneyx3 10|id
(z @10N) [eubis uid
s|eubig 10}08uUu0) AAJBA | d|qe]
L 12 31V0S
0 vi3aa
€ 9JON 998
4 \II// € SS90y Jousjse

Bununo| Z anlep

$S800Y Jaus)seq
Buiuno | aAleA

¢ 9JON 998

9)JON 993
va__aa:w ale |age]

UlUIBAN PUE MBIOS JOAOD)
Z 9NBA Y00[un 0} asn
SS800Y BpLUIBAQ [BNUBI\ Z SAlBA

| BJON 89S
(paliddng ale jage
Buiutep) pue maiog Jon0))
| DAJBA YO0|UN 0} dsN
$S800Y 9pLIBAQ [eNUB| | dAlA

‘spod jsneyx3 10jid dY) }oHIsal 40 %00]|q Jou op ‘uoijesado aAjeA Jadoid ainsus o

'$S9004d [BAOWAI SA[BA U} BULINp J0}08UU0D ploUs|os dA[eA 8y} Buibewep piore

0} UBYE} 8 P|NOYS BJe) "BA[EA dU} UIE}SI Jey} SMaIIS }9S Julod aUOD 8U} USS00| 0} pash aq 0} sI Aoy
X8y WWg Y ‘uolenys juswaoe|dal aAjeA B Ul AjUo pasn 8 0} aJe s8|oy SSa00e Buljunow dAjeA 8y |
"9INPON Joulold Jueldwo) pld W-G1a-1216

ay} se yons (jsuueyd |enp "a'1) sjeubis yojejun juspuadapul om} bunessusab s|npoyy [01U0) e ypm
a)elado 0} paubisap SI /11 8YL 00|g Uld-i 8U} BIA S|NPOJA [043U0D By} W04 Pa0INOS dle sjeubls

‘paysiuly uaym sjage| Buiuiem pue smalos
19A092 8y} d9oejday ‘(A|snosue)nwis passaidap a9 Jsnw) SSPIISAO [ENUBW SA[BA Ujoq Ssaidap
Allenuew pue umoys Suo[}ed0] OM} U} Ul 193[qO JuN|q Je|iWIS Jo A8y X8y WwZ pusa-|leq e Wasu|

‘pajeAnoe
S| pIOU3|OS 8y} UaYM p.eady aq pjNoYs aseajal Jje ue ‘Uojnq apliidano ayj ssaidep Ajpuab

0} ‘Aay uaj|y wwz asou [[eq o3 Jejiwis 3o3[qo dieys-uou asf) ‘uopisod auo uj }o13s 0} uoynqg
9pLIIdAO 3SNEed 10 plous|os ay) abewep ued 92104 ssaaxa buifjddy -a2.104 jo Junowe [jews
e Ajuo pue (wuw~) [aredy ajp3l Aiaa saiinbas suoNq apLIISAO dAJEA JO UoEN)dY JI[LON

"9PILIBAO [ENUBLW U} JO UOKENJOE 0} Jold UOed0| PaInoss e Ul 8q PINOYS |00} Pajeloosse

pue Jebueyo |00} 8y “suofenys AousBuiuoD 0} PajoL}Sal S| BPLUIBAO [BNUBW SAJBA U} JO 8S()
*(ZNn pue Ln) sapLIBAQ [enuely dA[ep

YoJeIUN OM} Y] JO LUOHENJIE SNOIUBHNWIS SYJ YIM INIIO [l dSE3[2Y [001 ‘DONINNVM

19)depy anleA
prousjog-s|qnoQ |en@
W-2Lr-1216

1led o|qesoIAes
00-2000L01-06¥€ N/d
sIgIYNIA ISneyx3
NWLIN sojewnN X¢

L2 31V0S
v vi3a

| BJON 99S
(pa1ddng ase |age]

Bujuiep) pue malog JaA0))

Z 9NBA X007 0} 8sn

SS90V SpLIBAQ [BNUB|\ Z DAlRA .

~—
| sl0N e85 | SIETITIT]
(payddng aue [age

Buiuiepn pue malog _m>oov\ SONELINN Xe

| @AlBA 3007 0} S
$S800Y SPLUBAQ [BNUBI | SA[BA

b
:S9JON

isneyx3 NINLIN

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-39


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

€0 ,1r-02-0€96 | 9 2l | 40 guHs  |-gzz09] # 100N

NOISIAZY ¥IGWNN ONIMYHA | 3718 El\o})

10SUSS 8INSSBId pue ANWIX0Id/M
‘0L€-00 ‘LdN ‘SaAleA plousjos sjgno( |enq ‘1sidepy aAleA

91/0L/L 1 [BoOMIBg "N\ :AS QINDIHO

EYIN 9L/OL/LL ‘BEL Y ASNMVYD

11V 4O NOILVZISOHLNY N3LL¥M 3OI¥d HLIM 3O ¥3QHO0 NO 1d3DX3 ¥INNYW
ANY NI G3DONQO0¥d3¥ 38 OL LON "ONI ‘NOILYWOLNY TVIRISNANI 1LY 4O AL¥3dO¥d

Auedwo) paisjsibay 1006 OSI
MM 6528 7/L 616 L+ XES
wooe-Ne@oj Jlews  GLLOT/L 646 L+ 1oL
VS 6£5/2 ON “xedy ‘aniiq ypiompood Lo,

NOLLYWOLNY
isienan Ml LN
| ——

NOLD3rO¥d IIONY Pig

“SYFLEWIMTIW
NI 33V SNOISNIWId 11V
"ONIMYYA 31vVOS ION Od

‘@3HI03ds
3SIMIIFHLO SSTINN :SILON

10}09UU0Y d2EBLIA}U|
Josuag Ajwixoid

20N 0801 ndno-
20A 0 Lud .
gud
Alddng 0aA 0

leubis
¥ uld

¥ uld

JBIHNIA JBIUNIA

10}03UU09 d26dU|
Josuag ainssaid

g

Ja|N 1sneyxg

'sIg|nNW Jsneyxa ay) ase|das Jo/pue yoadsul Ajjesipouad ‘welboid soueusiuiew
aAljejuanald e Jo Jed sy "PajolIsal Jou SJe SIS|YNW JSNEYXd 8y} Jey) [eond s1y| '

‘paiddns si ainssaud
Jie Jusolynsul ji Ajoa1100 ajelado | ON [IIM SBAleA 8y 131 ON '19)8q Jo suoolw Qf }e palally
pue (Jeg 6'9-1"¥) Isd 001 0} 09 1e Jie pajedlgn|-uou ‘AIp ‘ueso payddns aq jsnw saAleA Byl ‘€

*/1r 8y} Jo uonesado sy) UO SUONONJISUI Pa|IBIap IO} [ENUBW 80UBISJSY
‘(IN-§1Q-12L6 'X3) 211 8y} Ag pajelsuab sinduj Josuas Ajwixoid pue Josuas ainssaid ay)
Hoddns ues jey) s|npow [eubis [0JU0D B YIM pasn aq jsnw Jajdepy sAleA N-LLM-LZL69UL 2

'saAjeA Ujoq 0} papiroad si [eubis yoye ojbuls e ‘Jabueyd [00] 8y} 300|

0] "oojun o} Jabuey) |00 8y} 9sned pue saAjeA om) 8y} 9ziBiaus o} palsinbai ale sjeubis

yojejun juspuadapul om | :8JON "uolisod HO1YINN 8y} Ul 818 SeAleA H1Og Usym ATNO

3o0jun |jIm JaBuey) 100 8y} ‘UBISap SIY} YHAA “Yo0[un [00} papusiuiun ue jo Ayjigeqold
By} 82Npal 0} SBAJBA Z/G OM] Yulalul Ajjedijewnaud sieydepe aAlBA N-/11-LZL6 89Ul 'L
:S9JON

MBS }9G WWg X
G'ZIN) 8oy ssao0e
malos Buluieyas
J0SuaS aInssald

Alddng ay

N-21r-12l6

JOsuag aJinssald

1sneyxg ﬂ 1sneyxg
el LS
| T T

Z ANTVA 4 14

— |

10)08UU0Y) JOSUag
1 Ajwixoud uid-¢ 8N

L ANTVA

J0}08UU0D Josusg

JOSsuas
Ajwixold

Hod >oojun o1

10d %207 0

10SUBS ainssald Uid-¥ 8N

ainssaid

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-40


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

20

NOISIAZY

11V 40 NOILYZISOHLNY NILL¥M YOI¥d HIIM 3O ¥303O NO 1d30X3 3NNV

€1dr-0¢-0€96

HIFNNN ONIMYIA

q

azs

NIyl ssed aABA /M 0L€-0D ‘Y ‘Buisusg
on)souBelqg yum sanje/ plous|os ajgnoq [enq ‘Jaydepy aAjeA
L 81/GZ/L UOSUIqOYY A8 NMV¥Q

ANY NI G3DNQ0¥d3¥ 38 OL LON “DNI ‘NOILYWOLNY 1¥IALSNANI 1LY 40 AL¥3Odd

woo'el-fie mmm

Auedwog paigjsibay 1006 OSI
65C8C/L6L6°)+ Xed

woo'eFNe@OjU P GLL0TLL 616 L+ 01
VSN ‘6652 ON ‘x8dy ‘oA Yompoog L£0;

&
|

Zl €40 | 133HS

ElZN

NOLLYWOLNY
TvidLsnani

_—y
| A 4

| ——

L-¥Z108) #103ro¥d

81/8Z/ [EO0LBG M A8 AINOIHO

NOWDIrO¥d TIONY P&

“SYFLEAWITIW
NI 33V SNOISNIwIa 11V
"ONIMYYJ 3TVOS LION Od

‘Q3H1D3dS
JSIMIIHLIO SSTINN SILON

Ayleo Joy
uspply sa|qeD

Integrated QC-310 Tool Changer Valve Arrangement (JP13)

9.6

J1ebuey |100) ayy
0 9pIS |00 8Y} U0 - LI 8y} 8iisoddo pasn q Jsnw | -yHr-1Z1L6 %00|q Jeoeds Jeidepy aAleA
8INPO [013u0D Joulold Juendwod p 1d :N-51d-1216

10SUSS 8Inssald pue

Ajwixoid /m ‘0LE-OD ‘LdN ‘SoAleA plousjos a|gnod [end ‘19)depy SAl_A IN-ELdI-1Z1L6
SQA37 /M SI0SUSS dNd Pejesbajul “Jabueyd 1001 0LE-OD :INS-0-0-0-0-NIVOLE-LZL6
:$9pNjoul droqe UMoys |NS-0-0-0-0-S1dLLI-NVO0LE-1Z16 dUL

‘s|iejep |euonesado pue weibelp 3010 oijewnaud 8y} 104 € }98US 0} Jojoy
"9pLLIAAO [ENUBW 8Y) JO 8Sh pue

suoneubisap uid J10joaUU0D BY) BuIUIBOUOD UOIEWIOUI PUE S8JOU [BUOHOUNS 10} Z 198US O} Jajoy
‘SOJON [eloud

WS-0-0-0-0-NVO0LE-L2L6

©
=

I 17,

o

N

T

¢ SMIeA EEmETER ol e O°
ﬂ%/*@y P !
O O o gt e o 3 sy (@) ® @

€1dr yum agepisiul
|BOLI}O83 %00|q
uid s|npoj| [0u0D

sl/1z/s

&

aspajey

20

Eltete]

Jojoyul

uoydusseq

Aoy

o

SUONOBUUOY) B8oBUBJU|

00"

SINPO

|0A3U0D YNM B8oBMBIUI

laydepy aAleA gLdr

|eol}08 ¥00|q :_a\,,\< 4

5 ©

JaWo)sNy ||NPoy [eubig/j0uo

U—
"848y UMOYS Jou ale Ing ‘abexoed
Jabueyo |00} aseq ay} yum paiddns

ale sjndul %007-0)-Apeay pue ‘payoojun
‘pa)007 Joj sa|qe) Josuag payelbaju| ayl

N-€Ldr-L¢le

(umoys N-G1Q-1.Z16)
ainpo}\ [eubig/jonuod

L8

€
c

b

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-41


http://www.ati-ia.com/

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

20 €1dr-02-0£96 9 Tl €40 ZuFMS  |-pZl08] #I0IO¥d  NOLDINONITIONY PE ‘spod }sneyx3 10jid dY) }oHISal 40 %00|q Jou op ‘uoijesado aAjeA Jjodoud ainsus 0] p
NOISIAZY SIOWINONMVAD | S | 3OS AN '$S9004d [BAOWAI SA[BA U} BULINp J0}08UU0D ploUs|os dA[eA 8y} Buibewep piore
. T 0} UBYE} 8 P|NOYS BJe) "BA[EA dU} UIE}SI Jey} SMaIIS }9S Julod aUOD 8U} USS00| 0} pash aq 0} sI Aoy
NIYL ssed SAlEA /M 0L€-0D o Buisusg 81/8Z/L [BOOLBEM A8 GBIOIHO Xoy Wwg \y "uonenys juswaoe|dal SAJEA B Ul Aluo pasn 8 O} ale sajoy Ssaooe Buljunow SAleA Y] ‘€
onsoubelq yim sanjeA pious|os a|gno [enq ‘Jeidepy aAjeA -8|NPO J8ULOId Juendwod pd N-ST1a-1Z16
qun 81/ST/L UOSUIqOYY A8 NMvad ay} se yons (jsuueyd |enp "a'1) sjeubis yojejun juspuadapul om} bunessusab s|npoyy [01U0) e ypm
AN NI O30 38 OLION ‘DN NOTVHOIY WISLNON 1 40 30N —_— S e1e18do 0} pouBISep S1 L[ 8UL “00I8 Uid-y 8} BIA SINPO 011U BU} WOy PROINOS .8 S|eudls 2
Auedwo) pesgjsibay 1006 OSI NOILYINOLNY NI 33¥ SNOISNIWIQ TV “paysiuly usym sjaqe| Buiuiem pue smaios
wooerNE MMM 6629°7// 616 L+ XES TvigLsnani . |F< "ONIMYA 3I¥OS LON OQ J19A00 8y} doe|day ‘(Ajlsnosueynwis passaidop g 1SNw) SOPLISAO [BNUBW SA[BA Uiog Ssaidap
wooe-je@ojul Jlews  GLLOTLL 6LE L+ 191 ( -QID3dS Ajlenuew pue UMOYs SUO[}EO0| OM} 8U} Ul 193[qO Juniq Jefiwis 1o A8) Xay WwZ pus-|ieq e Jasu|
VSN 66522 ON *ady ‘A ypompood LEo) 3ISIMYTHLO SSTINN :SLON
‘pajeAnoe
SI pIoUd|OS 3y} uaym pieay aq p/noys asea|al Jje ue ‘Uonq apliIdA0 ay) ssaidap Ajpuab
ped s|qeadines 0} ‘Aay uaj|y wwz asou [[eq o} sejiwis 323fqo dieys-uou asf) ‘uonisod auo ui }o13s o} uoynq
10-8000€0L-SOVE N/d 9pLLIBAO aSNEI 10 PIOUS[OS Y} dbBeWEpP UBd 8210 SSaaxd buifjddy 92104 jo Junowe [jews
(ZLdF Ym papnjou] Sjewa e Ajuo pue (wuw~) jarey ajpif A1aA saiinbal suo}Nq aplLIBAO dA[BA Jo Uoen)aYy :JO[LON
v/l 2¥) Hod Aiddng uy "9PLIBAO [ENUBW BY) JO UOIjEN}oe 0} Jold UOIIED0| PaInoas B Ul g pjnoys |00} PajeIoosse
pue Jabueyo |00} 8y ‘suolen)is AousbulluOD O} PaJOLI}Sal S| SPLUIBAO [ENUBW SAJA BY) JO as)
(2N pue Ln) sapliIdaAQ [enueyy dA[eA
Y23e[Uf) OM] BY} JO UOHENIIE SNOBUEBHNWIS BY} YIIM INII0 [[IM 95833y [00L ‘ONINYVM )
:S9joN
Hed 9|qeaoInes d
J)depy SAIBA BU} UM 18)dEPY SAIE/\
palddns a|ged Josuas ainssald Ewcm_mw.m_n:on_ leng
81.00-06Wd-001 dSN-0-02 16 W-LLr-1z16
. 1ed 9|qesoines
g oSS LON 00-2000101-06¥€ N/d
aJe Inq Jaydepy aAjeA ay} SO Jsneyxa
yym pajddns ale s|jqed sonewn
pue Josuag Ajwixold NWLIN SOl N X€
L *1 3VOS
iG] - v 1ivl3d
(DAA 62-61) | BNEA Yoelun € .
(AN 62-61) 2 @ABA YoIElUN 4 Fm._ F.__m,_q._k,qm_oﬁ_w (+ ©10N) spod
(DA 62-61) T @NBA PUB | BABA YRR | 1sneyx3 10|id
(Z @10N) |eubig uld
0 9J0N 993
S|eubig 10J02UU0D AAJBA ;| d|qeL wvm__aa:w 30E [9qe]
L 12 3VOS UlUIBAN PUE MBIOS JOAOD)
O ivi3da ¢ SNBA XO0jUN 0} 8sN | BJON 99S
SS90y SPUISAQ [BNUBI Z SA[BA (peiddng ale jaqeq
¢ 9JON 993 !
14 \II// € sseooy Jsusisey Bululep PUB MaIOS JOA0D)
oYo. Bununoly Z aAjlep C ONBA X007 0} 8sn
5 & $S900Y 9PIISAQ [BNUB|\ Z SAIBA ~
¢ 9JON 988 | ®JON @88 /w‘_w_t:_)_
3 /:\ﬂ‘\ ¢ sse00y Jousjseq / (panddng aue jage N ﬁqu__m_mwmzzv_m,m:\,_
Bununoly | aAjeA | SJON 998 Bujuiep) pue malog JBA0D) ’
(pelddng ase jaqe | BAl_A %007 0} 9sM
Buluiepn pue maiog Jan0D) $S800Y SPLISAQ [BNUEBI | SA[BA
| 9AlBA 3O0|UN 0} SN

$S800Y 9PLIBAQ [ENUB | BAJA

Pinnacle Park « 1031 Goodworth Drive « Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www. ati-ia.com

C-42


http://www.ati-ia.com

Manual, Valve Adapters, Dual Double Solenoid, Valve Pass Through, Prox Pressure Sensors

Document #9620-20-C-Jxx Valve Adapters Dual Dou Sol Pas Th Prox Pres Sw-05

NOLD3rO¥d IIONY Pig

T

20 €1dr-0¢c-0€96 9 43

NOISIAZY AIIWNN ONIMYIA 3us 31vOS
NIy ssed SABA /M 0LE-OD ‘Y ‘Buisuss

ansouBelq yim seAleA plous|os a|gnod |enq Jajdepy aAjeA
1 81/GZ/| UOSUIGOY"Y ‘A8 NMVAQ

€40 €I3IHS  |-pgL08) #103rO¥d

81/82/1 |eoolIag M\ ‘A8 GIMNO3IHD

11V 4O NOILVZISOHLNY N3LL¥M 3OI¥d HLIM 3O ¥3QHO0 NO 1d3DX3 33NNV
ANY NI G3DONQO0¥d3¥ 38 OL LON "ONI ‘NOILYWOLNY TVIRISNANI 1LY 4O AL¥3dO¥d

Auedwo) paisjsibay 1006 OSI
BHEMMN 6528 T/L 616} + Xe]
wooe-Ne@oj Jlews  GLLOT/L 646 L+ 1oL
VS 6£5/2 ON “xedy ‘aniiq ypiompood Lo,

“SYFLEWIMTIW
NI 33V SNOISNIWId 11V
"ONIMYYA 31vVOS ION Od

‘@3HI03ds
3SIMIIFHLO SSTINN :SILON

_—y
NOILLYIWO.LNY . h<

TvidLsnani

| ——

10}03UU09 d26dU|
Josuag ainssaid

10}93UU0?) d2eLIdU|
losuag Ajwixold

20N 0801 ndno-
20A 0 Lud .
£ uid
Alddng 9aA 0

leubis
¥ uld

¥ uld

JBIHNIA JBIUNIA

g

'sIg|nNW Jsneyxa ay) ase|das Jo/pue yoadsul Ajjesipouad ‘welboid soueusiuiew
aAljejuanald e Jo Jed sy "PajolIsal Jou SJe SIS|YNW JSNEYXd 8y} Jey) [eond s1y| '

‘paiddns si ainssaud
Jie Jusolynsul ji Ajoa1100 ajelado | ON [IIM SBAleA 8y 131 ON '19)8q Jo suoolw Qf }e palally
pue (Jeg 6'9-1"¥) Isd 001 0} 09 1e Jie pajedlgn|-uou ‘AIp ‘ueso payddns aq jsnw saAleA Byl ‘€

*/Lr 8y} Jo uonesado ay) UO SUONONJISUI pajielap 10 [enuew adualsjey (N-S1d
-1LZ16 "X8) /11 ay) Aq pajesauab syndul Josuas Ajwixoid pue sosuas ainssald ayy poddns
ued jey) ajnpow [eubig [04u0D B yym pasn aq jsnuw Jajdepy oAleA N-ELdr-LZL6 9UL 2

'saAjeA Ujoq 0} papiroad si [eubis yoye ojbuls e ‘Jabueyd [00] 8y} 300|

0] "oojun o} Jabuey) |00 8y} 9sned pue saAjeA om) 8y} 9ziBiaus o} palsinbai ale sjeubis

yojejun juspuadapul om | :8JON "uolisod HO1YINN 8y} Ul 818 SeAleA H1Og Usym ATNO

3o0jun |Im JaBuey) 100 ay} ‘UBISap SIY} YHAA “oo[un [00} papusiuiun ue jo Ayjigeqold
By} 80Npal 0} SOAIBA Z/G OM) Yulalul A|[eajewnaud sieydepe aAleA W-€Ldr-LZL6 dUl 'L
:S9JON

MBS }9G WWg X
G'ZIN) 8oy ssao0e
malos Buluieyas
J0SuaS aInssald

Alddng ay

Ja|N 1sneyxg WN-ELdr-1Z16

JOsuag aJinssald

1sneyxg m 1sneyxg
el LS € 3
L

_ 1

— |

10)08UU0Y) JOSUag
1 Ajwixoud uid-¢ 8N

Z AANTVA 4 v 4

L ANTVA

10}J08UU0)) I0SUBS
ainssald Uid-¥ 8N

Josusg

JOSsuas
Ajwixold

Hod >oojun o1

10d %207 0

ainssaid

Pinnacle Park « 1031 Goodworth Drive * Apex, NC 27539 « Tel: 919.772.0115 « Fax: 919.772.8259 « www.ati-ia.com

C-43


http://www.ati-ia.com/

	C. Control and Signal Modules 
	Valve Adapters with Dual Double Solenoid, Valve Signal Pass Through, Proximity and Pressure Sensors
	1.	Product Overview
	2.	Product Information
	2.1	Dual Double‑Solenoid Valve Function
	2.2	Monitoring Solenoid Valves
	2.2.1	Pressure Sensor Solenoid Valve 1
	2.2.2	Proximity Sensor Solenoid Valve 2


	3.	Installation
	3.1	Valve Adapter Installation for QC‑113, QC‑210, QC‑213
	3.2	Valve Adapter Removal for QC‑113, QC‑210, QC‑213
	3.3	Valve Adapter Installation for QC‑310, QC‑313, QC‑510, QC‑1210
	3.4	Valve Adapter Removal for QC‑310, QC‑313, QC‑510, QC‑1210
	3.5	Spacer Module Installation
	3.6	Spacer Module Removal
	3.7	Pneumatic Connections
	3.8	Electrical Connections
	3.8.1	Solenoid Valves Pin Block
	3.8.2	Pressure and Proximity Sensor Connections


	4.	Operation
	5.	Maintenance
	6.	Troubleshooting and Service Procedures
	6.1	Troubleshooting
	6.2	Manually Phase Solenoids
	6.2.1	Manually Override Solenoid Valves to Unlock Position
	6.2.2	Manually Override Solenoid Valves to Locked Position

	6.3	Service Procedures
	6.3.1	Exhaust Muffler Replacement
	6.3.2	Pressure Sensor Replacement


	7.	Serviceable Parts
	7.1	JP12, JR4, and JU4 Master Valve Adapters Serviceable Parts
	7.2	JP13, JT7, and JU5 Master Valve Adapters Serviceable Parts
	7.3	Tool Spacer Block Serviceable Parts

	8.	Specifications
	9.	Drawings
	9.1	Integrated QC‑210 Tool Changer Valve Arrangement (JR4)
	9.2	Integrated QC‑210 Tool Changer Valve Arrangement (JU4)
	9.3	Integrated QC‑210 Tool Changer Valve Arrangement (JP12)
	9.4	Integrated QC‑310 Tool Changer Valve Arrangement (JU5)
	9.5	Integrated QC‑310 Tool Changer Valve Arrangement (JT7)
	9.6	Integrated QC‑310 Tool Changer Valve Arrangement (JP13)
	6.2	Manually Phase Solenoids
	6.2.1	Manually Override Solenoid Valves to Unlock Position
	6.2.2	Manually Override Solenoid Valves to Locked Position

	6.3	Service Procedures
	6.3.1	Exhaust Muffler Replacement
	6.3.2	Pressure Sensor Replacement


	7.	Serviceable Parts
	7.1	JP12, JR4, and JU4 Master Valve Adapters Serviceable Parts
	7.2	JP13, JT7, and JU5 Master Valve Adapters Serviceable Parts
	7.3	Tool Spacer Block Serviceable Parts

	8.	Specifications
	9.	Drawings
	9.1	Integrated QC‑210 Tool Changer Valve Arrangement (JR4)
	9.2	Integrated QC‑210 Tool Changer Valve Arrangement (JU4)
	9.3	Integrated QC‑210 Tool Changer Valve Arrangement (JP12)
	9.4	Integrated QC‑310 Tool Changer Valve Arrangement (JU5)
	9.5	Integrated QC‑310 Tool Changer Valve Arrangement (JT7)
	9.6	Integrated QC‑310 Tool Changer Valve Arrangement (JP13)


